>
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
2H: 230
M 20z s
Sl SHTAl PH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
E 30l =t 36,430,080 32,165,849 4,264,231
= 5,651,300
s 1,500,000
J| 2,358,700
< 3,447,135
Al 23,472,945
iz & 10,020,645 9,191,805 828,840
s 1,500,000
J| 2,061,100
< 1,062,560
Al 5,396,985
FST Al 2E 3,267,330 3,241,530 25,800
s 1,500,000
< 450,000
Al 1,317,330
SOIAIOIZ23 S Al RS AS 145,500 145,500 0
307 21201 A 145,500 145,500 0
02 B AAHEX 145,500 145,500 0
OSO0LAIOLZ23tE Al WR A 145,500, 000& 145,500
FEsII=0 2o 6,790 6,790 0
307 glz2tol & 6,790 6,790 0
02 IS AMHEE 6,790 6,790 0
OFRA=SII=0 2H 6,790,000& * 13l 6,790
SEfFdse 24 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
02 IZtE M AHE X 7,760 7,760 0
OEFi=sR =3¢ 7,760,000& * 13l 7,760
KNS 2 (ste) A=A 63,050 63,050 0
307 glz2+ol & 63,050 63,050 0
04 QIZFHALAIH E = 63,050 63,050 0
OX Y23t (ste )& AL 63,050,000 63,050
B3 AN 20250 8,730 8,730 0
307 21201 A 8,730 8,730 0
02 IS AHEL 8,730 8,730 0
OANE=0EZ35ts 8,730,000 8,730
= AL Mot =28 ZH 9,700 9,700 0
307 gl2tol & 9,700 9,700 0
02 IZHEHAHE L 9,700 9,700 0
OF= A2 ot 2t 23
9,700,000 9,700




2N 230z
M 2oos ds
&??: 2T A 2E (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
EAEDZUL AL 230=Z 3 2d 2E 1002 & 21,000 0 21,000
3l
201 L2l 21,000 0 21,000
03 A2 Z Hl 21,000 0 21,000
OZAEDZUL AU 230I=FM LA a1
002 E&23 21,000,000& 21,000
ST Al A 3,004,800 3,000,000 4,800
as 1,500,000
< 450,000
Al 1,054,800
201 L2l 4,800 0 4,800
01 At 22l 4,800 0 4,800
O A=A 2
100,000& * 12H =« 43| 4,800
308 XXM S0l A 3,000,000 3,000,000 0
s 1,500,000
< 450,000
Al 1,050,000
N 3JN2SUHUe3AHAE A 3,000,000 3,000,000 0
O=23T Al =4 ALY 3,000,000, 000& 3,000,000
s 1,500,000
< 450,000
Al 1,050,000
22HZE 2stU=X&A 2,897,250 2,430,918 466,332
| 2,061,100
= 199,910
Al 636,240
SEEZS0I2HAZ 2,897,250 2,430,918 466,332
| 2,061,100
< 199,910
Al 636,240
307 21201 A 2,897,250 2,430,918 466,332
| 2,061,100
< 199,910
Al 636,240
02 LB AAFEE 2,897,250 2,430,918 466,332
osg=solsd A 2,897,250,000& 2,897,250
| 2,061,100
= 199,910
Al 636,240
TS0l =&AL X 3,113,106 2,834,111 278,995
< 412,650
Al 2,700,456
2AE 230 = A 117,060 116,900 160
201 £B-2%| 7,000 6,840 160




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 7,000 6,840 160
0= gRE10 =&l 7,000
OFERAE 20N MH
10,0008 * 80% 800
OANZAE BN M 14,0002 *» 60 840
OMIMNBLAMN BEDMN HE
14,0002 * 80% 1,120
OANZEU3 S20M M= 14,0002 *» 60 840
OSAMIAEIRAZ 2E0M WA
15,000& = 80F 23l 2,400
O&RAE (2Ms22R)
50,000& * 202 1,000
203 YR =&l 15,000 15,000 0
03 AIBFXH S =AY 15,000 15,000 0
OIS =&AL HEFX 9,000,000 9,000
OXNYEZaIeta=E HRFA 6,000,000& 6,000
307 glz2+ol & 95,060 95,060 0
04 QIZFHALAIH E = 95,060 95,060 0
O2AE 23t0=#H AL X 95,060,000 95,060
ANLEZsto=X& 20,200 30,000 A9,800
201 Let2d] 18,200 28,000 A 9,800
01 At 221l 17,600 19,000 A 1,400
OZsto=&E HA 10,0002 * 3000H 3,000
OZsttl=el 2AHH XM= 100,000& * 204 2,000
OH=E0=RZHYRAAE 29
100,000& = 29 = 183 3,600
O=30lsZ2NE 0|8 RANE=>
3,000,000 = 30H A 9,000
02 2324l 600 9,000 A 8,400
O330=Z2HE JI=2 A &=
50,000& = 128 = 1A 600
203 YR =&l 2,000 2,000 0
03 A F=AH S =AY 2,000 2,000 0
OZ2t0=HA =& 2,000,000& 2,000
S=0=20s 20,000 0 20,000
< 10,000
Al 10,000
307 21201 A 20,000 0 20,000
< 10,000
Al 10,000
04 DIZHHALALSE E X 20,000 0 20,000
Os=0=2U3 20,000,000& = 13l 20,000
= 10,000




25 230z
HH: 230z M=
e S3d=8EAI X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 10,000
S N=2SHM FAHAHA 40,000 40,000 0
< 12,000
Al 28,000
307 2Iz2to| & 40,000 40,000 0
= 12,000
Al 28,000
04 SIZ2HSHAAIH E & 40,000 40,000 0
oYY MISMRL I
40,000,000& = 13| 40,000
= 12,000
Al 28,000
S=H=2H M=l 40,000 40,000 0
= 12,000
Al 28,000
307 2Iz2t0| A 40,000 40,000 0]
< 12,000
Al 28,000
04 SIZ2HSHAAISH E & 40,000 40,000 0
OF=dA=2H M=zl 40,000,000& * 13l 40,000
= 12,000
Al 28,000
LA HB IIQEA 36,000 40,000 A 4,000
< 10,800
Al 25,200
307 2iztol A 36,000 40,000 A 4,000
& 10,800
Al 25,200
04 QIZ2tSHALALSE B X 36,000 40,000 A4 ,000
ORAA HEIIQEH 36,000,000 * 13| 36,000
= 10,800
Al 25,200
HFAXNNAS2AMHH A 60,000 60,000 0
= 18,000
Al 42,000
307 QI2t0| ™ 60,000 60,000 0
& 18,000
Al 42,000
04 CIZ2tSHALALS B X 60,000 60,000 0
OFFXXNHNHSAANCHA
60,000,000& * 13l 60,000
o= 18,000
Al 42,000
SE2401g9=2 281 30,600 30,600 0
= 8,100
Al 22,500




2N
X ZH -
L= B

el

230l = ot
Stz 8
S3t0l=A X3

SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
307 2Iz2to| & 30,600 30,600 0
== 8,100
Al 22,500
02 QI AAIE E X 30,600 30,600 0
O=sE22401"=2 28X 30,600,000 = 13| 30,600
= 8,100
Al 22,500
H=2M #U0=sd 20,000 20,000 0
= 6,000
Al 14,000
307 gizto| A 20,000 20,000 0
& 6,000
Al 14,000
04 CIZ2tSHALALS B = 20,000 20,000 0
OFF2MESUD=N 20,000,000& * 13| 20,000
& 6,000
Al 14,000
E= AES2E Fe-Story HAEY 36,000 36,000 0
o= 10,800
Al 25,200
307 2I2t0| ™ 36,000 36,000 0
o= 10,800
Al 25,200
04 SIZ2ISHAAISHE E & 36,000 36,000 0
OFE=AES2E 'Fe-Story' HIAEY
36,000,000& = 13| 36,000
= 10,800
Al 25,200
HFW=LH2E 2H K& 50,000 0 50,000
o=} 12,150
Al 37,850
307 QI2t0| ™ 50,000 0 50,000
= 12,150
Al 37,850
04 CIZ2tSHALALS B X 50,000 0 50,000
OF=M=2H 2ttt QHctAA
50,000,000& * 13| 50,000
= 12,150
Al 37,850
HEFW=H 227,950 227,950 0
307 QI2t0| ™ 227,950 227,950 0
04 CIZ2tSHALALS B X 227,950 227,950 0
OFZF0=H 227,950,000& = 13 227,950
HEMHEASH 2 L XA 43,214 43,214 0
307 212t0| & 43,214 43,214 0




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
04 QIZFHALAIH E = 43,214 43,214 0
OHIAMHUZH 23t AL 43,214,0008 * 13| 43,214
0= =22 9,700 9,700 0
307 21201 A 9,700 9,700 0
04 QIZFHALAIH B = 9,700 9,700 0
OFF0=! Ozl & 9,700,000& = 13l 9,700
FF=ARIS & DG~ A} 48,500 48,500 0
307 21201 A 48,500 48,500 0
04 DIZHHALALSE E X 48,500 48,500 0
OFFACL & JIE&HA 48,500,000& * 13 48,500
NOHZ2AZAIZE 2SH0=0R 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 DIZHHALALSE E X 3,880 3,880 0
OXNHBHEZAIZL 280z R
3,880,000& * 13l 3,880
= 832020 EFHU3 29,100 29,100 0
307 gl2tol & 29,100 29,100 0
04 DIZHHALALSE E X 29,100 29,100 0
O&E=0E0l eg&a&3HUS
29,100,000& = 13l 29,100
YL S 20 A 40,000 33,950 6,050
307 21201 A 40,000 33,950 6,050
04 DIZHHALALSE E X 40,000 33,950 6,050
OYLHZT HE SUHHA 40,000,000& = 13l 40,000
FEEF ZESBIIRII 24,250 24,250 0
307 gl2tol & 24,250 24,250 0
02 It M AHE L 24,250 24,250 0
OFEHF EFEFZIIRI  24,250,000& * 13 24,250
dF FIMAEARAE 15,000 0 15,000
307 glz2+ol & 15,000 0 15,000
04 QIZFHALAIH E = 15,000 0 15,000
OFFZMAULEHRAZ 15,000,000& * 12l 15,000
HEAN ASETA MY BEH 4,200 3,880 320
307 21201 A 4,200 3,880 320
04 QIZFHALAIH B = 4,200 3,880 320
OHFAUA=TZAIANEZZ2H
4,200,000& = 13l 4,200

SEUSUH==M A LU 3,880 3,880 0




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
307 glz2tol & 3,880 3,880 0
04 DIZHSHALAIRI 2 = 3,880 3,880 0
OF=LUSMH==H EFAULHSE
3,880,000& = 13l 3,880
=Nl 2,400 1,940 460
307 21201 A 2,400 1,940 460
04 DIZHHALALSE E X 2,400 1,940 460
oL N 2,400,000& = 13l 2,400
| 2,425 2,425 0
307 glz2tol & 2,425 2,425 0
04 DIZFSHALAIE 2 &= 2,425 2,425 0
OH2H 2,425,000& » 13 2,425
EFAA! A IFAUMA 8,245 8,245 0
307 21201 A 8,245 8,245 0
04 QIZFHALAIH E = 8,245 8,245 0
OHE=XX I IFAUMAE 8,245,000& * 123 8,245
S8 Mot =H 8,245 8,245 0
307 21201 A 8,245 8,245 0
04 QIZFHALAIR B = 8,245 8,245 0
OfEW &Mot= =M 8,245,000& * 13l 8,245
AFEIREZAUE 20,000 19,400 600
307 21201 A 20,000 19,400 600
04 DIZHHALALSE E X 20,000 19,400 600
OFFH=ZSEZHUE 20,000,000& = 13l 20,000
Hd=2REHM &It 2,910 2,910 0
307 glz2tol & 2,910 2,910 0
04 QIZFHALAIH E = 2,910 2,910 0
OXH=REM FOt 2,910,000 = 13l 2,910
2083 A HEH 2,328 2,328 0
307 21201 A 2,328 2,328 0
04 QIZFHALAIH B = 2,328 2,328 0
OB HANEH U SHAH
2,328,000& * 13l 2,328
20 xFZH ¥ EES 3,492 3,880 A 388
307 gl & 3,492 3,880 A 388
04 QIZFHALAIH 2 = 3,492 3,880 A 388
o=2stol 2HUN U 23
3,492,000& * 13l 3,492




SN 250sn
Hu: 2310z JE
Sl 2oEBA XN (S &S)
£AH -3 -H2A(3AH) - AH2AY -BHES Off &4 %Ei Hnsz
AIDH BTG 28to & 9,200 8,245 955
307 212+0] ® 9,200 8,245 955
04 DIZFEHALAFRI B X 9,200 8,245 955
OAQI D Bt Mot 28to g
9,200,0002! * 13l 9,200
MEZ wos 4,365 4,365 0
307 212+0| ® 4,365 4,365 0
02 DIZH YA A B E 4,365 4,365 0
ONE Bz 4,365,002 * 13l 4,365
A= 0= 8,245 8,245 0
307 212+0| ® 8,245 8,245 0
04 DIZHEHALAFRI B X 8,245 8,245 0
ONT A=W 0IzH 8,245,002 * 13| 8,245
Hx028s AN 8,245 8,245 0
307 212+0] ® 8,245 8,245 0
04 DIZFEHALAFRI 2 & 8,245 8,245 0
OHZ=0IzE3 A 8,245,002 * 13| 8,245
OFEH T 2022 12,610 12,610 0
307 212+0| ® 12,610 12,610 0
04 DIZLHALAFRI 2 & 12,610 12,610 0
OOtE & F 2022 12,610,0008 * 13| 12,610
T2 AL T B 4,365 4,365 0
307 212+0| ® 4,365 4,365 0
02 BIZHY A A B E 4,365 4,365 0
OF =8t AHA [} 3 4,365,002 * 13| 4,365
HE028s BY 60FE JEA 40,000 0 40,000
307 212+0| ® 40,000 0 40,000
04 DIZHEHALAFRI B X 40,000 0 40,000
OHZ0I=EE MY 60F4 I GAY
40,000,0008! * 13 40,000
HRNNZSH 19,400 19,400 0
307 212+0| ® 19,400 19,400 0
04 DIZHEHALAFRI B X 19,400 19,400 0
OFZ= M2AX 22F  19,400,0002 * 13| 19,400
HE JIZSAE 2RH 20,000 0 20,000
307 212+0] ® 20,000 0 20,000
04 DIZHEHALAFRI B X 20,000 0 20,000
O&HZE J|= A® Z@F  20,000,0002 * 18| 20,000




2AH: 25 0=
HH: B30z B
& S3o=AM X (cho &)
SA-ZH () - HRAY - BES Ofl & oH %}E_i Hns2Z
S=3d 23,499 23,499 0
307 gl2tol & 23,499 23,499 0
04 BIREEH AFALE! B 23,499 23,499 0
Ofx=H=23¢ 23,499,000& * 13l 23,499
SE=SHIH &0t 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 QIZFHALALH 2 = 3,880 3,880 0
Os=¢3H ot 3,880,000& = 13l 3,880
H=IHIH FOt 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 BIZbEAFAL R 2 2,910 2,910 0
O&=H=H &It 2,910,000& = 13l 2,910
3 o3 HAEE 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIR B = 20,000 0 20,000
OF= A3 WAEE 20,000,000& * 13l 20,000
=AM 7,800 7,421 379
307 gl2tol & 7,800 7,421 379
04 DIZHHALALSE E X 7,800 7,421 379
O&FEFIIH 7,800,000& = 13l 7,800
I MGEHISH 30,000 19,400 10,600
307 glz2tol & 30,000 19,400 10,600
04 QIZFHALAIH E = 30,000 19,400 10,600
OF==2HHISH 30,000,000& * 13l 30,000
StsAI AU 3,395 3,395 0
307 21201 A 3,395 3,395 0
04 QIZFHALAIH B = 3,395 3,395 0
ostdsAF AU 3,395,000& = 13l 3,395
Al oISt 3] 8,000 0 8,000
307 21201 A 8,000 0 8,000
04 DIZHHALALSE E X 8,000 0 8,000
(©OFARRIR=3=lgel| 8,000,000& = 13l 8,000
dSeIstHE 10,081 11,201 A 1,120
307 gl2tol & 10,081 11,201 A 1,120
02 It M AHE X 10,081 11,201 A 1,120
(OFSE=RRIR-I D[R 10,081,000& * 13l 10,081
E= US0=H Ot 5,646 5,646 0




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
307 glz2tol & 5,646 5,646 0
04 DI2HHALALSE E X 5,646 5,646 0
Os=lxsdssd &t 5,646,000& * 13l 5,646
SE=2EAYE US0=H &0t 5,646 5,646 0
307 eIzl & 5,646 5,646 0
04 QIZFHALAIH E = 5,646 5,646 0
Os=EaUUE0=M &0t
5,646,000 * 13l 5,646
INREICIRS] 2,910 2,910 0
307 glz2tol & 2,910 2,910 0
04 DI2HHALAISE E X 2,910 2,910 0
O At 3 A 2,910,000& = 13l 2,910
HdIAZZEHUS 7,857 7,857 0
307 21201 A 7,857 7,857 0
04 QIZFHALAIH E = 7,857 7,857 0
OdIA=ZEHUS 7,857,000& = 13l 7,857
stz A 18,665 18,665 0
307 21201 A 18,665 18,665 0
04 DIZHBH A AL I 2 X 18,665 18,665 0
OHtMEZsto =M & 18,665,000& * 13l 18,665
SH s 1= 11,349 11,349 0
307 21201 A 11,349 11,349 0
04 DIZHHALALSE E X 11,349 11,349 0
oOsdY & 1 = 11,349,000& * 13l 11,349
FF:0telgd 243 AWE 10,476 10,476 0
307 glz2tol & 10,476 10,476 0
04 QIZFHALAIH E = 10,476 10,476 0
OF=0otclgd =AF A3
10,476,000& * 13l 10,476
ts2 2sHHl 9,704 10,782 A 1,078
307 gl2+tol & 9,704 10,782 A 1,078
04 DIZFSHAIAIR 2 = 9,704 10,782 1,078
otEsE 2H 9,704,000& * 13l 9,704
FEEFANMU =CHHILH 15,000 8,730 6,270
307 gl & 15,000 8,730 6,270
04 QIZFHALAIH 2 = 15,000 8,730 6,270
OFEF=XIMU =CHEIIA
15,000,000& * 13l 15,000




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
FF0F A 2,910 2,910 0
307 gl2tol & 2,910 2,910 0
04 DI2ZHHALALSE E X 2,910 2,910 0
OFFHFAISH 2,910,000& = 13l 2,910
SHSHMMA 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 QIZFHALALH 2 = 3,880 3,880 0
OZHSTMANOHA 3,880,000& = 13l 3,880
2083 d 7,760 7,760 0
307 21201 A 7,760 7,760 0
04 QIZFHALAIH B = 7,760 7,760 0
OH==203 Eald 7,760,000& = 13l 7,760
PHNEE AN 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 QIZFHALAIR B = 2,910 2,910 0
OR&ANE S 3AA 2,910,000& = 13l 2,910
Jt=21 otelote & 2,910 2,910 0
307 gl2tol & 2,910 2,910 0
04 DIZHHALALSE E X 2,910 2,910 0
©Jt=21t ot2lote & 2,910,000& = 13l 2,910
AMEUSAEHIIL 11,175 11,175 0
307 glz2tol & 11,175 11,175 0
04 QIZFHALAIH E = 11,175 11,175 0
OAEUSAHIIR M 11,175,000& = 13 11,175
FAaEweetth 3| H=3] 2,910 2,910 0
307 21201 A 2,910 2,910 0
04 QIZFHALAIH B = 2,910 2,910 0
OBAEADTAH FHIIHED
2,910,000& = 13l 2,910
fl=32% Sdl XA 3,298 3,298 0
307 glz2+ol & 3,298 3,298 0
02 IZtE A AMHEE 3,298 3,298 0
oud=3% Sl XA 3,298,000& = 13l 3,298
SAE dEUE 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 QIZFHALAIH B = 4,000 0 4,000
OSAMNEEE A3 4,000,000& = 13l 4,000




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HE &FJ ol B2 dsacl 4,000 0 4,000
307 gl2tol & 4,000 0 4,000
04 DI2ZHHALALSE E X 4,000 0 4,000
OLIE = ot= EF2 dshel
4,000,000& = 13l 4,000
tEs2 e 21,500 0 21,500
307 21201 A 21,500 0 21,500
04 DIZHHALALSE E X 21,500 0 21,500
oOtsE 2t 21,500,000& = 13l 21,500
A4 €8 F20AH 8,000 0 8,000
307 gl2tol & 8,000 0 8,000
04 DIZHHALALSE E X 8,000 0 8,000
OF=4 & =20UAH 8,000,000& = 13| 8,000
E=US0=H 100,000 87,300 12,700
307 glz2+0ol & 100,000 87,300 12,700
04 QIZFHALAIH E = 100,000 87,300 12,700
OFFUZSM=AM 100,000,000& * 12l 100,000
A S HH A 7,760 7,760 0
307 21201 A 7,760 7,760 0
04 QIZFHALAIH B = 7,760 7,760 0
OHAZHA A 7,760,000& = 13l 7,760
S22 ME0re 4,365 4,365 0
307 21201 A 4,365 4,365 0
04 DIZHHALALSE E X 4,365 4,365 0
OdEZstHE s 4,365,000& 13l 4,365
2clls 7 2HME 9,700 9,700 0
307 glz2tol & 9,700 9,700 0
04 DI2ZHHALALSE E X 9,700 9,700 0
Oxclls FRE 2MHME 9,700,000& = 13l 9,700
ROt 2sttl=gs 222 46,560 46,560 0
307 glz2+ol & 46,560 46,560 0
04 QIZFHALAIH E = 46,560 46,560 0
OOt 2soi=2s 223
6,560,000& * 13l 46,560
FFo=E0=2 U3 2,910 2,910 0
307 glz2tol & 2,910 2,910 0
04 DIZHHALALSE E X 2,910 2,910 0
OFFU=EM=2U3 2,910,000& = 13l 2,910




2N 230z
M 2oos ds
& S3o=AM X (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2 A= 3,880 3,880 0
307 gl2tol & 3,880 3,880 0
04 QIZHHALALH 2 £ 3,880 3,880 0
OE Acl=2E 3,880,000& = 13l 3,880
AMNEZZE Al 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 QIZFHALALH 2 = 3,880 3,880 0
OMEZZHAlZ 3,880,000& = 13l 3,880
AIEZSAEZAHME 3,880 3,880 0
307 glz2+ol & 3,880 3,880 0
04 QI2bSHAIAIRI 2 = 3,880 3,880 0
ORESAZMHEMNZ 3,880,000& = 13l 3,880
SELE 3,880 3,880 0
307 21201 A 3,880 3,880 0
04 DIZHBHAFA I 2 X 3,880 3,880 0
OZT=HF 3,880,000& = 13l 3,880
S 3tok2tdl 0l 4,850 4,850 0
307 gl2tol & 4,850 4,850 0
04 DIZHHALALSE E X 4,850 4,850 0
oZstoratdiol 24 4,850,000& * 13l 4,850
F=UEIE0LE 3,880 3,880 0
307 glz2tol & 3,880 3,880 0
04 QIZFHALAIH E = 3,880 3,880 0
OFFUEIEOE 3,880,000& = 13l 3,880
HFE2YE S ottt 14,550 14,550 0
307 21201 A 14,550 14,550 0
04 QIZFHALAIH B = 14,550 14,550 0
OFESYEES oottt 14,550,000& * 13l 14,550
oo == =200k 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
OZeuAH == =2 010F7]
5,000,000& = 13l 5,000
2XE - MOtE, 21MIDIE OF=38HTH 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 QIZFHALAIH B = 5,000 0 5,000
O=JtE - MItE, 21MIIE Ot=otLt
5,000,000& = 13l 5,000




2H: 230
M 20z s
& S3o=AM X (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
dF & HARE 5,000 0 5,000
307 gl2tol & 5,000 0 5,000
04 DI2ZHHALALSE E X 5,000 0 5,000
O&F= & HAEHY 5,000,000& =« 13l 5,000
Ol=&3 J18d 4,850 4,850 0
307 glz2tol & 4,850 4,850 0
04 QIZFHALALH 2 = 4,850 4,850 0
onl=x3J1ed 4,850,000& = 13l 4,850
3 A48 OUXN21 OtEHAEY 30,000 0 30,000
307 21201 A 30,000 0 30,000
04 QIZFHALAIH B = 30,000 0 30,000
O&¥= A& UXNZ1 OtEHAEE
30,000,000& = 13l 30,000
3652 HAIZSL0l EXle 2stEAxH 33,950 33,950 0
307 glz2+0l & 33,950 33,950 0
04 QIZFHALAIH E = 33,950 33,950 0
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04 DIZHHALALSE E X 263,600 271,600 A 8,000
OFFSH2EX 263,600,000 * 13l 263,600
EF=Z3d SSU=MESEA XA 57,400 49,470 7,930
307 glz2t0l & 57,400 49,470 7,930
04 QIZFHALAIH B = 57,400 0 57,400
OFF=Z3td ZstMEd AL XI&  57,400,000& 57,400
dArH2setn 29 15,520 15,520 0
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Al 18,000
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36,000,000& * 12l 36,000
< 18,000
Al 18,000
HYAA ECIS#A 19,400 19,400 0
307 21201 A 19,400 19,400 0
04 QIZFHALAIH B = 19,400 19,400 0
OATAHA EcCIHA 19,400,000& * 13l 19,400
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< 140,000
Al 140,000
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< 140,000
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< 30,000
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OZustg RASANM 60,000,000& = 13l 60,000
< 30,000
Al 30,000
IR EY QAN ZANE 43,650 43,650 0
307 21201 A 43,650 43,650 0
04 DIZHHALALSE E X 43,650 43,650 0
ONBEY HEBGAHEZHE
43,650,000& = 13l 43,650
FF=ARISe3 35,000 29,100 5,900
307 21201 A 35,000 29,100 5,900
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< 22,500
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Al 22,500
843 EA4A4E 8% 2322 31,300 31,300 0
< 10,000
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307 glz2+0ol & 31,300 31,300 0




2H: 230
M 20z s
& S3o=AM X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 10,000
Al 21,300
04 QIZFHALAIH E = 31,300 31,300 0
0F= HAW g9 232
31,300,000& = 13/ 31,300
< 10,000
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307 glz2tol & 43,170 38,853 4,317
04 QIZFHALALH 2 = 43,170 38,853 4,317
OARD EMdts dESAS
43,170,000& * 13l 43,170
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04 DIZHHALALSE E X 49,470 49,470 0
OAl2I & Mote JI238<243l
49,470,000& = 13l 49,470
A AEsSY 2FR2 8,730 8,730 0
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307 glz2tol & 38,800 38,800 0
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< 32,300
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M=ol 22t0 J&a HE s 20,000 0 20,000
308 XX SHHSOIA 20,000 0 20,000
N 3IN2SHUSEAHAE ALY 20,000 0 20,000
o=l & M&E U= 20,000,000& 20,000
2slolzs ¢4H X 742,959 685,246 57,713
s 29 K& 137,713 120,042 17,671
307 QI2t0| ™ 137,713 120,042 17,671
02 DI2ZHE MAIEE X 6,790 6,790 0
OFFU=X 22t 6,790,000& * 13 6,790
03 AN EESAHE=X 130,923 113,252 17,671
OF=0WZ 2l 130,923, 000& 130,923
HF00s 29 AA 74,314 63,998 10,316
307 QI2t0| ™ 74,314 63,998 10,316
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OSESII20 X 22t 6,000,000& * 13 6,000
03 AN EES2EHEX 68,314 59, 148 9,166
OF=F2MZ 29Y| 68,314,000& 68,314
HFESE 29X 286,932 268,476 18,456
307 212t01 & 286,932 268,476 18,456
02 DI2ZtZ AAMEE X 125,806 130,756 AN 4,950
OFFZ23EMN 2t 25,000,000& * 13l 25,000
OFFE2TS0I2l SHAY 70,000,000& 70,000
(OPNEE == =M N ] 11,600,000& 11,600
OFFTAAMNLIZ LD "LHAIY HZF'
19,206,000& * 13 19,206
B oIZHHBPESIHIEX 161,126 137,720 23,406
OFF2A 2gHl XN& 161,126, 000& 161,126
ooy 29 244,000 232,730 11,270
307 QI2t0| & 244,000 224,000 20,000
05 A2t &2 244,000 224,000 20,000
OFHF2S2AE 24 122,000, 000& 122,000
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o= 1,050
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2IIXNESM S=FU (M HoIPY S MEHAR 100,000 100,000 0
)
= 70,000
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Al 15,000
308 AHXIEHMSOIA 100,000 100,000 0
= 70,000
== 15,000
Al 15,000
112 2SUHUSHEAEAE AT Y| 100,000 100,000 0
OBM H0ITY S M, MeEpel
100,000,000 100,000
= 70,000
& 15,000
Al 15,000
2N E 28 ELEH(222 28U & Al 20,000 19,570 430
2L X2)
= 14,000
= 3,000
Al 3,000
401 Al HI L £ 0HHI 20,000 19,570 430
= 14,000
& 3,000
Al 3,000
01 Al& b 20,000 19,570 430
OFHIIEE BEX2(2E2 S2UR)
11,000,000 11,000
= 7,700
o= 1,650
Al 1,650
OFHIIEES BELXS(HHM2 2HULR)
9,000,000& 9,000
= 6,300
o=} 1,350
Al 1,350
IIINE2 M BELAH (B2 SUR B39 & 800,000 0 800,000
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= 560,000
< 120,000
Al 120,000
NNE SN B+ (MESSNEF EXNONEY) 5,840,000 0 5,840,000
= 3,752,000
< 804,000
Al 1,284,000
401 Al BIZ 201 8] 5,840,000 0 5,840,000
= 3,752,000
< 804,000
Al 1,284,000
01 Al& Hl 5,840,000 0 5,840,000
OtssNEZ EXNNY ARG aE
5,840,000, 000& 5,840,000
= 3,752,000
< 804,000
Al 1,284,000
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= 35,000
< 7,500
Al 7,500
207 Ao 2| 50,000 0 50,000
= 35,000
< 7,500
Al 7,500
01 A2 ESHI 50,000 0 50,000
OF=S EH R AM2ZAL 50,000,000& 50,000
= 35,000
< 7,500
Al 7,500
ZIXNE 23 E-FU(F3F= Ao 224+ 2 200,000 0 200,000
NE F83Yl)
= 140,000
< 30,000
Al 30,000
T AEHIZXEUY 200,000 0 200,000
= 140,000
< 30,000
Al 30,000
01 A& HI 200,000 0 200,000
OBZ NYHE HRB4 U HS FHFY
200,000,000 200,000
= 140,000
< 30,000
Al 30,000
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Al 60,000
OFF wE2 DI 2 ¥ U Ba
88,200,000& 88,200
< 44,100
Al 44,100
O&= 22l It NS+ 40,000,000& 40,000
< 20,000
Al 20,000
O3 SEAMN MY E= 50,000,000& 50,000
< 25,000
Al 25,000
OFH= "3 MI FHIH (I L A &
) 30,000,000& 30,000
= 15,000
Al 15,000
OFZE BaA FHUIY(Y2H NS22)
32,000,000& 32,000
= 16,000
Al 16,000
OF= &d2= SAH BE&XH 15,000, 000& 15,000
< 7,500
Al 7,500
OF= MXs ME X 24 EEHC
16,180, 000& 16,180
< 8,090
Al 8,090
OEXNZEZ3M B0l 22+ 20,000,000& 20,000
< 10,000
Al 10,000
EXNZE2 M =201 D] 47,100 68,085 A 20,985
< 23,550
Al 23,550
401 Al& I 28I 47,100 68,085 A 20,985
< 23,550
Al 23,550
01 A& HI 47,100 68,085 A 20,985
O2Mx(EHSI KR X, =8l 2IIt)
47,100,000& 47,100
< 23,550
Al 23,550
SERN 22T 338,000 315,000 23,000
401 Al HI & 28I 338,000 315,000 23,000
01 Al&HI 338,000 315,000 23,000
OEERZE otliEr AXI 1,500,000& * 1200 £ 18,000
OSERH E= 320,000,000 320,000
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Al 16,800
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101 @14 dl 301,461 237,515 63,946
04 JIZHHZ2XREE S 301,461 237,515 63,946
OZstHAIE &3 FHl 284,995
OoJlzs 64,1203 * 14% * 262 ~ 11&8 256,737
O=8d3 256,737,000& * 4.5% 11,554
(OFaR=g=g= 256,737,000& * 3.43% 8,807
OFIRAEHE 8,807,000& * 11.52% 1,015
onssdg 256,737,000& * 1.65% 4,237
OMTHE S 256,737,000& * 1.03% 2,645
OEM ZAZE 2te] 16,466
OoJlzs
9,160& » 2% = 3AI2t = 262 » 10& 14,290
O=8gd= 14,290,000& * 4.5% 644
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OFIAEE 491,000& = 11.52% 57
(OE=20= 14,290,000& * 1.65% 236
OtHEE 14,290,000& * 1.03% 148
Ou=s0I 20,000& = 1% = 30¢ 600
201 Let24E] 297,842 293,287 4,555
01 At 2t 2l 126,846 125,567 1,279
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O2MAIE B22F
450,000& = 3&Z * 704 9,450
ogeUEs+Z 44,705
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Ot MSME so Ea
1,500,000 = 100 A 1,500
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1,400& = 100L » 2JHA » 128 3,360
O=23MAIE EUlSXH 8,000,000& * 702 56,000
OEM ZALE CCTV 42  100,0008 * 12& 1,200
203 YR =&l 1,500 1,500
A=A =AY 1,500 1,500




2N 230z
B NESS 2E U M
Sl RS Y ALY (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZst It gRF2 1,500, 000& 1,500
405 TtHabF S| 13,300 0 13,300
01 AL EFSHSHI 13,300 0 13,300
Otz JIE2 ANEES 12,600
OY &l AR DHAAZOIT)
120,000& * 504 6,000
od&aEn 1,000,000& * 1CH 1,000
OS2 Xt 300,000& = 24 600
OM & 200,000 = 24 400
O0lsa MEd 200,000& = 24 400
Ot 300,000& * 404 1,200
OxZelg 1,000,000 = 1CH 1,000
OALSI T 300,000& = 24 600
(OF=E~p)| 300,000& =« 1CH 300
O2+S 0l (IHEl &) 300,000& = 24 600
O3z gXt 300,000& =« 10H 300
O&Tt 50,000 * 404 200
OSLEIER NRES 700
OHM& I 700,000& = 1CH 700
3 MAIE FZH 282,000 280,000 2,000
401 A& BIZ 201 8] 282,000 280,000 2,000
01 A& HI 282,000 280,000 2,000
O=stM =8 xFzel & &02el
220,000, 000& 220,000
O=F2AZst MR st&EA cl2dd
42,000,000& 42,000
OSEAN E30|182 HANZE &X
20,000,000& 20,000
g sXZel A g 21,960 30,851 A 8,891
= 10,980
Al 10,980
307 glz2+ol & 21,960 30,851 A 8,891
< 10,980
Al 10,980
02 HAFAASFEE 21,960 30,851 A 8,891
OZ0IEx & a2 (E=E0)
13,630,000 13,630
< 6,815
Al 6,815
OZ0IEx & YaH2(2AED)
8,330,000& 8,330
< 4,165
Al 4,165
FINKNEFEZ3M HHEXAE 25 370,000 355,000 15,000




25 230z
Hu: MER5 2E L Mz
Sl SHI B ALY SREED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
Pl 219,000
& 75,500
Al 75,500
402 SI2FXHE0| & 370,000 0 370,000
J| 219,000
& 75,500
Al 75,500
02 BIZtXIEANYEX(0OIETHS) 370,000 0 370,000
OHZF Z3tAb HHULXAIE RE(HD])
200,000,000& 200,000
J| 100,000
& 50,000
Al 50,000
OAHZF Z3AI HHUHEXAIE RS (2Y)
170,000,000 170,000
J| 119,000
& 25,500
Al 25,500
2ZIHKNEESSM MHEXAIE A2 28,000 28,000 0
J| 19,600
& 4,200
Al 4,200
201 LBt 9| 28,000 28,000 0
J| 19,600
&< 4,200
Al 4,200
02 22244l 28,000 28,000 0
OMLHETHAIE SX2e (A 2, D22
TEN AFEEALA) 28,000,000 28,000
J| 19,600
& 4,200
Al 4,200
2IOIANE 25 etAd A& B X 118,000 118,000 0]
J| 59,000
= 21,830
Al 37,170
101 Q124 H| 118,000 118,000 0
J| 59,000
= 21,830
Al 37,170
04 JI2ZtHIZ22NEE S 118,000 118,000 0
OS2 M HHAHE E 118,000
(OPIR==1 2,126,000& = 4% = 12& 102,048
J| 51,024
& 18,880
Al 32,144
o422 15,952,000& 15,952
J| 7,976
o=} 2,950
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B NESS 2E U M
Sl 25 28 L BANY CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 87,000
Al 87,000
12 JIEtEA S 174,000 160,000 14,000
P2 85 K& 174,000, 000& 174,000
< 87,000
Al 87,000
S22 SHEA X 20,600 18,800 1,800
= 10,300
Al 10,300
307 21201 A 20,600 18,800 1,800
< 10,300
Al 10,300
02 ItFAAFE R 20,600 18,800 1,800
OSEZaM BHEA XA 20,600,000& 20,600
< 10,300
Al 10,300
dFEsoas8d 3,880 3,880 0
307 gl2tol & 3,880 3,880 0
04 DIZHHALALSE E X 3,880 3,880 0
OFFs43¢H 3,880,000& = 13l 3,880
g CY4d3s s 15,000 15,000 0
< 3,000
Al 12,000
307 glz2+ol & 15,000 15,000 0
= 3,000
Al 12,000
02 RIZFEA MM E X 15,000 15,000 0
ozdd3sl=s XA (HF81W) 9,000,000 9,000
< 1,800
Al 7,200
Ozg4dsls WX (22g) 6,000,000 6,000
< 1,200
Al 4,800
e AU 9,700 9,700 0
307 glz2tol & 9,700 9,700 0
04 DI2HHALALSE E X 9,700 9,700 0
OFFSuAMU M 4,850,000& * 23| 9,700
g Jlzd 7,760 7,760 0
307 glz2+ol & 7,760 7,760 0
04 QIZFHALAIH B = 7,760 7,760 0
O©J12d A} 7,760,000& = 13l 7,760
FFEW Most2na 11,786 13,095 A 1,309
307 21201 A 11,786 13,095 21,309
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25 230z
M 2aE =4
ol 2sMYSY CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 13,202,282
ey 643,620 656,620 A 13,000
&< 30,000
Al 613,620
HFAN GAI2FNMNYE =X 501,900 501,900 0
201 gBt24y| 1,900 1,900 0
01 AP 22| H| 1,900 1,900 0
OFMNEIIANYE EE & H=2 1,900, 000& 1,900
308 XAHXIGH SO0l & 500,000 500,000 0
11 2I2SHUSHEAXERAEASH] 500,000 500,000 0
OYGAMIIaE 243 =4 500,000,000& 500,000
HFA HEHA QAL AIA 73,720 73,720 0]
307 QI2t0| ™ 73,720 73,720 0
02 A2t AAMAIE E =X 73,720 73,720 0
OdILID HEFHHA QAL AS
73,720,000 73,720
St9E CetitHe 29 8,000 8,000 0
201 et Y| 8,000 8,000 0
02 2324 8,000 8,000 0
OCEetor Hel MIIB (24, THXTH)
60,000 *« 5004 « 12€ 3,600
OCSetOl Hel &ast:E 22(22)
100,000& * 1A = 6 600
OEector Hel | X&e2ll 3,800,000 3,800
g2 -0l 243 XSAY 60,000 73,000 A 13,000
o 30,000
Al 30,000
307 212t0| & 60,000 70,000 A 10,000
=} 30,000
Al 30,000
02 DIZHBAAIE E X 60,000 70,000 A 10,000
o2& D=2 243 XNJAAL
10,000,000& = 6IH 2~ 60,000
o= 30,000
Al 30,000
S3D|B AlE &= 2,756,000 2,534,900 221,100
= 50,000
= 300,000
Al 2,406,000
AE SHE 2435 NE 15,000 15,000 0
402 SI2t X0l & 15,000 15,000 0
01 It E A EXR (M) 15,000 15,000 0
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e

HO MO Mo
tol toi ton

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAMRIBAZTEHI (AMEMNS )X
15,000, 000& 15,000
M=2 BHRHE &AL 11,000 0 11,000
201 £B-2dH| 11,000 0 11,000
01 At 22l 11,000 0 11,000
o[ =L=AR3 29
100,000& = 11& =102 11,000
ANEogty 2= 0otdy 2 X 1,200,000 1,200,000 0
< 300,000
Al 900,000
308 MXIEHMSOIH 1,200,000 1,200,000 0
= 300,000
Al 900,000
11 3J2SoHUHSI S EAE ALS I 1,200,000 1,200,000 0
OX<gEJ|gtd 2HI=2C2I0tE 22
1,200,000, 000& 1,200,000
< 300,000
Al 900,000
=234l S¢S 43 600,000 500,000 100,000
308 XtXIEHH SOl A 600,000 500,000 100,000
3 2SOHeE & X 2 AL I 600,000 500,000 100,000
oOsSe&a 2IHUI(THS) 600,000,000& 600,000
=stitEas E3 28X 100,000 100,000 0
= 50,000
Al 50,000
308 A EHHSOIA 100,000 100,000 0
= 50,000
Al 50,000
1132 SoHUHSBHEAEALS I 100,000 100,000 0
OzstitEx B 29 100,000, 000& 100,000
= 50,000
Al 50,000
ZHECOIEE 22 320,000 309,900 10,100
308 XXM SO A 320,000 300,000 20,000
N 3JN2SHUe3 A A 320,000 300,000 20,000
OZ+=8EctilotEE 29l 320,000, 000& 320,000
FFS2E1) B87= d=2H =& (X2) 500,000 0 500,000
401 AIEHI L 2 CHYI 500,000 0 500,000
01 A& HI 500,000 0 500,000
OsS=R&1 3rs BF= =t 2&3AM
500,000, 000& 500,000
=3 JIBAIE 2el 10,000 10,000 0




2N 230z
M BeaE 84
Sl 2318 Al =S (cho &)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al& Bl & 28I 10,000 10,000 0
01 A& HI 10,000 10,000 0
OZSIIEtAIE RRE =+ 10,000, 000& 10,000
EFHUEIMAEI =4 & 2 4,672,000 4,687,000 A 15,000
A IMAHCR 2 22,000 22,000 0
207 A& H| 22,000 22,000 0
01 289 22,000 22,000 0
OBFANIIMIUENE 2FEI 4
22,000,000& 22,000
EFA2SIMSTINERE EH3 4,650,000 4,500,000 150,000
306 ¢ 2 4,650,000 4,500,000 150,000
01 &3 4,650,000 4,500,000 150,000
OFFANZIUIUENE =23
4,650,000,000& 4,650,000
SH23s4 5,459,662 7,969,934 A2,510,272
=30 #A FE =] 391,000 5,000,000 A 4,609,000
307 21201 A 391,000 5,000,000 A 4,609,000
02 IAHFAAFE X 391,000 5,000,000 A 4,609,000
©2023 EFSodldge A =& EHI 391,000
02023 FF30dlel =l
291,000, 000& 291,000
O20blagd S HMRF At (allEtAS)
100,000, 000& 100,000
st=z02 249 1,250,000 1,129,000 121,000
308 AAEHHSOIA 1,250,000 0 1,250,000
11 372SoHUHSBHEAEALS I 1,250,000 0 1,250,000
ost=30& AE2Y 1,250,000, 000& 1,250,000
3022 29 1,889,202 1,818,934 70,268
201 L2l 1,867,272 1,818,934 48,338
02 =224l 1,867,272 1,818,934 48,338
O3032lAH 29 22/t
6,500& = 22,224m » 128 1,733,472
O30 2iAH A E9 123,800, 000& 123,800
OZHEciAH AI8=2 |RXAE= 10,000,000& 10,000
405 XHoHF S HI 21,930 0 21,930
01 At ESFH S 21,930 0 21,930
O302clAH, BHES 235 +Y 21,930
O2+S0l (IHEl &) 300,000& = 60H 18,000
O=Z& X 110,000& * 1204 1,320
OXgE oKX 75,000& = 6K 450




2H: 230
BE: 2509 S4
el SN2sd (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&OIA ARt 30,000& * 200H 600
Ozl gX 290,000& = 404 1,160
OoZdt(x) 170,000 * 14 170
OZAUt () 230,000& = 14 230
FFMSI30HAEE 200,000 0 200,000
307 ©12+0I & 200,000 0 200,000
04 QIZFHALAIR B & 200,000 0 200,000
02022 EFHMSSHHAEE 200,000, 000& 200,000
H=A Bolzwel dHel x4 1,729,460 22,000 1,707,460
301 EEMZ 17,460 0 17,460
09 SALAHIX A S 17,460 0 17,460
OFUIMWAI 208 29 17,460
Oslo #4X =2dl 8,0008 * 1598 + 83 960
Oslo #4X =2 100,0008 * 159% = 83 12,000
O ==Atel A& 150,000& = 15H =« 23| 4,500
401 Al HI YL =2 Tl 1,712,000 0 1,712,000
01 A& HI 1,697,000 0 1,697,000
O303&2e Hel =48 AMd 1,697,000, 000& 1,697,000
02 Zeltl 15,000 0 15,000
o303 Hel gAY 15,000,000& 15,000
FoAMHAHR =4 171,000 0 171,000
< 120,000
Al 51,000
SIRNMEZUE SE2MYEX Ex=3=SAE £X 171,000 0 171,000
A (E BHAFS)
< 120,000
Al 51,000
401 Al HI K 2018 171,000 0 171,000
< 120,000
Al 51,000
01 A& HI 171,000 0 171,000
O=TUSSUE E=SSAE HAIEAHI
171,000, 000& 171,000
< 120,000
Al 51,000
HE2LZH (230 t) 120,428 123,592 A 3,164
ol 2d | 3,200 2,112 1,088
oI 244l 3,200 2,112 1,088
101 @124l 3,200 2,112 1,088
02 JIEtE B = 3,200 2,112 1,088




2N
X ZH -
L= B

el

stol=
gl (2s0s)
g2l

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAZESHERAINH A2 RS
8,887& * 1¥ x 30Al2t » 128 3,200
| 2&H| 117,228 121,480 N4, 252
Jl2&Hl 117,228 121,480 N4, 252
201 et 9| 74,988 74,500 488
01 AP 2t 2| H| 74,988 74,500 488
oJlE2geLdistSAL(J|=AHl)
450,000& * 26 11,700
oO3EHI(J1=ZHl)
8,0008 * 34¥ » 7Y x 128 22,848
OLEHl (23HM) 60,0008 = 210 12,600
OYAH (MIHZ) 60,000 » 4% x 116 27,840
202 044 31,200 36,000 A4 800
01 2L Y| 31,200 36,000 A 4,800
OOIHI(J1=&H|)
20,000 * 269¥ » 52 * 12€ 31,200
203 €2 F=&d| 11,040 10,980 60
01 J| 2 2H L RE=XH| 6,000 6,000 0
OJI=M(42) 6,000,000& 6,000
04 EASHEIRFAH| 5,040 4,980 60
OJ|l&=H 5,040
O3092!10| 5t 400,000& = 12&€ 4,800
03001 =1t 5,000& * 4% * 12& 240




= o
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
FAM: HENSDH
M MIHME AE
g4 d2Hs 84 XY (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
==t 19,453,629 18,033,285 1,420,344
J| 1,352,458
< 323,813
Al 17,777,358
MEHE & 15,412,448 14,212,170 1,200,278
J| 1,352,458
< 323,813
Al 13,736,177
HE2HE 24 XA 10,601,265 9,955,958 645,307
= 120,000
Al 10,481,265
H2HE |4 29 2,466,578 2,084,849 381,729
201 2et24d] 2,800 1,900 900
01 At 22l 2,800 1,900 900
OZ2Y M=¢ HEI M=  100,000& = 1994 1,900
OFEANNSTEES A8 Y
100,000& = 9Y = 13l 900
203 YR =&l 3,000 3,000 0
03 AIMF=XH R =AH| 3,000 3,000 0
OAZ HMEHAFA 3,000,000& 3,000
307 glz2+ol & 2,460,778 2,074,399 386,379
02 QB HAANGEEE 1,263,090 1,034,309 228,781
OF=FC X & 650,000,000 650,000
OFFAME2 K& MY 613,090
OBZEAN 2464 SHEX
126,000,000& * 13l 126,000
OHZA SME4T Lo
9,700,000& = 13l 9,700
OFFXXOLERS X
16,490,000& * 13l 16,490
Os=szd=sls =8I
335,500,000& * 13l 335,500
Od=2HM=sUa =X
48,500,000& =+ 13l 48,500
OdIAEMEUH =X
24,250,000& = 13l 24,250
Od=ZsAHAMEUH =X
4,850,000& = 13l 4,850
OMH & =03 s8N
9,000,000& = 13l 9,000
OANZUE AU EUNS =X 38,800
-MI333 E=XIAFIIXR S&OtetEHE
18,070,000& * 13 18,070
-H418 SSAZUE AH0HEAHS
20,730,000& = 13 20,730




254 M=2nx
M AN HE AE
GHe: M2Eds 84 AH
- _ _ RE]
SN ED B (3H) - MEAY - BAS ol &k o8 %Ei
03 QIZI X EHESIEHIEX 1,197,688 1,040,090
OHFANHERE AR=2 &9 1,193,288
(OPIR=3=| 585,344 ,000& 585,344
o= 217,497 ,000& 217,497
OHZ2EE2S 152,132,000 152,132
Og =&y 13,700,000 13,700
OX R AH| 36,840,000 36,840
O=2UWAHHY| 12,000,000& 12,000
o< 1,935,000 1,935
OYUSEEXNEQAE 17,950,000 17,950
Ot A 155,890, 000& 155,890
OFFANHM=EE ME=2 2E7Y X 4,400
O&EEH 1,500,000 = 2CH 3,000
O At 300,000 = 20 600
O 9| Xt 200,000 = 24 400
O0lsME 200,000 = 204 400
HEA 4BUS |41 145,000 145,000
308 XX SHHSOIH 145,000 145,000
08 m=sJl&HtistEx 145,000 145,000
OAFAN 2=2USR S4XK(ZUAE)
145,000,000& * 13l 145,000
AEXE S8 ANZER 50,000 50,000
201 et | 50,000 50,000
01 AP 22| H| 50,000 50,000
OAZXE E&H AIZEE 50,000,000 = 13| 50,000
HEANFI| ATEHUAGS 7,760 7,760
307 212t0| & 7,760 7,760
04 SIZ2SHAAISH E X 7,760 7,760
OHMI383 HZ=AIZI ATEHLAWS
7,760,000 * 13 7,760
HEANFIIANRANASLSDESSDE NS 7,760 7,760
307 212t0| & 7,760 7,760
04 CIZ2tSHALALS B X 7,760 7,760
OM30s HZ=ANHEIXNAN SAFELSEDETES
w 23 7,760,000 = 13| 7,760
HE=ANEE SEUE 9,700 9,700
307 QI2t01 ™ 9,700 9,700
04 CIZ2tSHALALS B X 9,700 9,700
O M358 H=AIZH 2203
9,700,000 = 13| 9,700




EM MERS
g MME &S
gelr d2Hs |4 X

= - - SHE|
SA - HH S (BH) - HMBAY - BES 0f & o4 e
EFAED BHEEU S 14,550 14,550
307 2Iztol ™ 14,550 14,550
04 DIZEHALAIHE E X 14,550 14,550
OHM253 HEFAEI HEZUE
14,550,000& * 13l 14,550
AN AEHEEAUSE 17,460 17,460
307 21201 A 17,460 17,460
04 CIZtHALAIHE E X 17,460 17,460
OHM243 HF=AEIIXX HEUHEFAUSE
17,460,000& * 13| 17,460
FFAEI 2=U3 8,730 8,730
307 21201 A 8,730 8,730
04 DI2FSHALAIE 2 = 8,730 8,730
OHM203 HFAEI 2=US
8,730,000& = 13l 8,730
HEEAMEH =2 U3 7,760 7,760
307 2I2t0l A 7,760 7,760
04 DI2FHALAISE E X 7,760 7,760
OM192] =AU H=0tAHEZSAUHE
7,760,000& = 13| 7,760
AT ==ZU3 14,550 14,550
307 2Iztol ™ 14,550 14,550
04 DIZIHAAIH E X 14,550 14,550
OM193 HFAIZH S=ZUs
14,550,000& * 13| 14,550
H=AMEH Bt=U S 11,640 11,640
307 2Iztol ™ 11,640 11,640
04 DIZtHALAIHE E X 11,640 11,640
OHM153 HFAIZH BtSU3E
11,640,000& * 13| 11,640
EFANEH HAAT =3 13,095 13,095
307 21201 A 13,095 13,095
04 DIZtHALAIE E X 13,095 13,095
OM128] HFAIEH EIO0MFHHAAAL=A
JItH &l 13,095,000& = 13| 13,095
EFANZEH RS 7,760 7,760
307 21201 A 7,760 7,760
04 DI2FSHALAIE 2 = 7,760 7,760
OM11a HFAEW U
7,760,000& = 13 7,760




EM MERS
g MME &S
gelr d2Hs |4 X

SA - ZE-B(EA) - NRAY - B S il &t o il
EFAZHE XA D1 CH & 7,760 7,760
307 gl2tol & 7,760 7,760
04 DIZFSHAIAIRI 2 = 7,760 7,760
OM73 HFAZE MAXEAUE
7,760,000& = 13l 7,760
E=AZHH B CH S 14,550 14,550
307 21201 A 14,550 14,550
04 DIZHHALALSE E X 14,550 14,550
OHM9sl HFAIZH BH2CHE
14,550,000& * 12l 14,550
EFANEINNE L= S 7,760 7,760
307 21201 A 7,760 7,760
04 QIZFHALAIH B = 7,760 7,760
OXM24s] EFAEIIXXN =23
7,760,000 = 13 7,760
EFAEE S48 OF2UE 7,760 7,760
307 glz2+ol & 7,760 7,760
04 QIZFHALAIH E = 7,760 7,760
OHMBsl HFAIZEH FAEFRUS
7,760,000& = 13| 7,760
SSE A= 2 ASHAUSE =l 7,275 7,275
307 glz2tol & 7,275 7,275
04 DI2HHALAISE E X 7,275 7,275
OFE=E A3 ¢ ATHAUS Nz N2
1,455,0002 * 53| 7,275
SAXE A0eld s2UE 40,000 40,000
307 gl2tol & 40,000 40,000
04 DIZHHALALSE E X 40,000 40,000
©2022 =& XE MHeld s+Usl
40,000,000& = 13l 40,000
X d=AFHANHAEE 14,550 14,550
307 21201 A 14,550 14,550
04 DIZHHALALSE E X 14,550 14,550
OHM123l 2022 =X d= AAl HAEE
14,550,000& * 12l 14,550
X d= =.0.00 3U3s2U3 24,250 24,250
307 21201 A 24,250 24,250
04 QIZFHALAIH B & 24,250 24,250
OxM16al MXH 8= =IO 3CH3 s+H =l
24,250,000 * 13| 24,250




EM MERS
g MME &S

g4 d2Hs 84 XY (SH9: &)
= _ — d =
S HB . C(EH) - NRAY - BES %Eﬁ o
FHAM) 82 E.H U 38,800 38,800 0
307 gl2tol & 38,800 38,800 0
04 212t AL 38,800 38,800 0
O H193! =gdUd=s=al
38,800,000& * 13l 38,800
A8 Hs0tetEU S 17,460 17,460 0
307 21201 A 17,460 17,460 0
04 212t AL 17,460 17,460 0
O HI563! OretE 3
17,460,000& 13 17,460
SHRMESR0 & 19,400 19,400 0
307 21201 A 19,400 19,400 0
04 QIZFHALAIH B = 19,400 19,400 0
OHM203 S=dS20 Hd=0z2
19,400,000& * 13 19,400
EFAXNIHNHAAT S A=A 48,500 48,500 0
307 glz2+ol & 48,500 48,500 0
04 QIZFHALAIH E = 48,500 48,500 0
OHM17al FF=HA =HHAALIM =23
48,500,000 =+ 13l 48,500
FEI HA=2REUHSE 240,000 240,000 0
< 120,000
Al 120,000
307 glz2tol & 240,000 240,000 0
= 120,000
Al 120,000
04 QIZ2HSH ALAL 2 240,000 240,000 0
O M 132 Hd=2R=US
240,000,000& * 13l 240,000
< 120,000
Al 120,000
oZER= t0FENUE 4,850 4,850 0
307 glz2tol & 4,850 4,850 0
04 212t AL 4,850 4,850 0
©2022 StWES MY KMKAIZ 13 & dIEE
P=0t0tFE0HUE 4,850,000& = 13l 4,850
d=gU LAAINOE SEHd=2AAU3 30,000 0 30,000
307 gl2tol & 30,000 0 30,000
04 DIZHHALALSE E X 30,000 0 30,000
OHM64sl 8==& TAHAINO0IE SEL=AN
3 30,000,000& * 12/ 30,000




EM MERS
g MME &S

H°el d2Hs |54 N (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SBS =& U= 70,000 0 70,000

307 @lz2tol & 70,000 0 70,000
04 QIZHHALALH 2 £ 70,000 0 70,000
©2022 SBS ZZ2=d Uz HEFF0
70,000,000& * 13l 70,000
d= 2lE orU e 77,600 0 77,600
307 212t0l & 77,600 0 77,600
04 DIZHSHALALH 2 £ 77,600 0 77,600
©2022 F=XXE d=clS0k20U 3
77,600,000& * 13 77,600
Ay2s 3R 54 7,148,407 6,941,179 207,228
201 2Bt2 | 173,379 173,445 A 66
01 AtR 22l | 630 665 A 35
O2Se ¥2 U U 25 B4
70,0002 = 9 630
02 5524t 166,749 166,780 A3
OXNEF2SIIIR m429 52,680
OFSpN=3 90,0008 » 15 » 12& 1,080
OEAItAZE 180,000& * 1085 » 123 21,600
Ozeld| 250,000& » 108 = 128 30,000
OHZ2AZ dsH=s2 29 3,000
OFSIE= 200,000& * 12& 2,400
Odot= g 50,000& ~ 12& 600
OMZEIZZ 28d 2 3,840
O®Il=z 100,000& =122 1,200
OAZ=Z 220,000 =123 2,640
OHF=ZTEAMNAT AER 24,600
OLBALHE (AtHALE E) 1,500,000 * 12€ 18,000
O OHAMA(AUHAER) 350,000& * 12& 4,200
(OFSPIE= 100,000& * 128 » 2JH 4 2,400
o¥L=zAHEsE 29 6,600
(OFSPIRTS=, 500,000& = 12E 6,000
Oddt=e= 50,000& ~ 12& 600
OR4IE=SA(SH2STEU) 3323
700,000& * 12& 8,400
oNg=sga 24 1,236
OFSPIRTS=, 50,000& » 12& 600
Oddt==R=3 20,000& » 12& 240
oS4l 33,000& » 123 396
Q==Y 2 (SS2EXUEL)
150,000& * 12E 1,800
Ost=a AW H| 3,000,000& » 6&5= 18,000




2A: Msnxt
M ASHE &=
ool H2HS 84 N (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZdE HEH(Z=2 , B AZEE) 2,347
OadUsR 889% * 2204 * 400 x 3 2,347
o2ss dsid d=hl
1,397& = 64 * 252 = 100H ~ 12& 25,146
O2sE MSIE USIHA 60,000& = 10CH 600
o2s: dEXNY BE8E= 750,000& « 10CH 7,500
O2sSRHEINY SZHNLREES
50,000& =~ 10CH * 23] 1,000
O=s4 ¥ 2dd ALl
1,000,000& * 1094 & 10,000
03 At L ] 6,000 6,000 0
OXNE2SZIIR & & #HA
,000,000& = 13 6,000
206 M = Hl 267,450 267,450 0
01 = bl 267,450 267,450 0
OYX 2L =8EE L &bl 50,000
Ostat S 258 40,000& * 258 * 508 50,000
OEd® &8 L HIES 33,600
OEHs & 63 800,000& = 65 » 78 33,600
O0OZLR E2dsE8E ¢ &l 26,000
O & 138 40,000 * 133 = 508 26,000
OHAETR 28 L HIES 21,600
OHAHEZ= S 1285 60,0008 = 125 x 30& 21,600
ONZEIOZR &8 L FIIES 6,250
OdJlst & 58 25,0008 * 5& x 50& 6,250
Q&L AMBE =& Y FHI 20,000
O&Et S 108 40,000& * 10& * 508 20,000
O L=R =2s8E L FHl 50,000
Ostat 5 258 40,000& * 25& * 508 50,000
OUBIAIZEE ZEHEE L FH| 60,000
O&E S 308 40,000& » 30& * 508 60,000
301 dEtEdZ 6,707,578 6,498, 184 209,394
Vo=t - 2sEsSEA2 6,707,578 6,498, 184 209,394
o2sE HE(¢s) 3,903, 165
OoZ= 64,890,000& * 6Y 389,340
ozs 58,275,000 * 3Y 174,825
O=ZX 55,125,000& » 49 220,500
O=ZAX 50,715,000& » 24 101,430
OEdolyd 41,580,000& » 14 41,580
O = 68,355,000& * 4Y 273,420
Oz 57,960,000& * 5Y 289,800
o= 48,195,000& = 104 481,950




SN HERSD
M MIHME AE
el dEMs 84 XA (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
O = 44,100,000 = 359H 1,543,500
OFaE 34,965,000& * 4H 139,860
OFaE 51,660,000& » 29H 103,320
Ou= 47,880,000& » 3H 143,640
oHdYL EHZEHS 14,400
OR= 700,000& = 1H » 123 8,400
OA= 500,000& = 1¥ = 12& 6,000
oOXF2ESEIR 2N 48,000
oZ= 300,000& = 9¥ « 12& 32,400
O=2x 150,000& » 89 « 12& 14,400
OEdgold 100,000& = 1H = 123 1,200
ozss =8l 568,800
O=aldl 540,000& = 798 » 123 511,920
Oo==dl 35,000& = 7998 » 12& 33,180
OZtAlH| 25,0003 = 7998 « 123 23,700
(OFSPARI=N:]! 70,000& = 799 « 30 165,900
oz =&t 60,0003 = 799 = 103 » 6 284,400
oYaZAZ 1,000,000& » 30% * 103l 300,000
O=3JtHEY 126,000
oZ= 500,000& = 6H = 12& 36,000
Od = 500,000& * 129 = 12& 72,000
O=Z X 250,000& = 6H » 123 18,000
Of==&= Fg AHAZ  180,000,000& » 13 180,000
O4uHEEZ S 20,0003 = 798 » 123 18,960
OcHABRNEH & MAHMS &It
30,000,000& * 43| 120,000
ONFRSAIT UBHENHE 29
1,000& = 1,000P * 79%¥ 79,000
CHE2SZIIR XXM 23 759,953
O&AHAZ 3,935,835,000& * 1/12 327,987
(OFaR= )= 3,935,835,000& * 3.43% 135,000
OFIeLEH 134,999, 1402 * 11.52% 15,552
OI20UHASRES 3,935,835,000& * 4.5% 177,113
OngREERY3
3,935,835,000& * 1.65% 64,942
MAMHEAEE S 3,935,835,000& * 1% 39,359
OgXe=F Il=l 14,000
ogst= s 108 200,000& = 108 » 79 14,000
O=s4&2 1= 22,000
Og=s=E s 63 200,000& * 63 » 11H 13,200
Oltet=Est S 88 100,000& * 88 = 11H 8,800
OEd=® U=l 11,200
odsts s 838 200,000& = 88 » 7H 11,200




FAM: HENSDH
M MIHME AE
g4 d2Hs 84 XY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZ&= Il=Hl 15,400
ogsts 78 200,000& = 78 ~ 11H 15,400
OHAZ=S O =l 16,000
ogsts s 88 200,000& * 88 = 10H 16,000
ONZEZZS 1=l 9,600
B2E= S 83 200,000& * 85 » 63 9,600
OFMAAIR S I =Hl 12,800
OMZ= S 88 200,000& * 8& = 8 12,800
ONWItL=TE W=l 14,000
ogs= s 108 200,000& = 108 » 7 14,000
OLBAIA R T=HI 24,000
OAZ= S 103 200,000& * 1085 = 12Y 24,000
FHME 4 XA 1,185,592 1,094,617 90,975
J| 135,874
< 48,383
Al 1,001,335
ZOHQ M= 243t 800,283 737,963 62,320
307 glz2+ol & 800,283 737,963 62,320
02 ItE M AHEE 279,470 263,426 16,044
OZMQ MEHME 28 29 N
43,650,000& * 13l 43,650
OFMe =E7na 29  24,250,000& * 10 24,250
OHM16e =T dMSUHI =&
6,790,000& = 13l 6,790
OM14sl =8 MU =d
4,850,000& = 13l 4,850
O=s=s0telstitSH s &A
4,850,000& = 13l 4,850
OHM42sl 8=2FHMAMEUH =™
23,280,000& 13 23,280
Ox16s sS=2HMHAZMEUH &
48,500,000& = 13l 48,500
od=U3a &It A4 XA
14,550,000& * 12l 14,550
0s=8 28 4235 &
14,550,000& * 13l 14,550
O Lat: S N
485,000% * 8% * 53 19,400
OHJI AZ= MEZH 2
3,880,000& = 13l 3,880
OXMNUMEMNEXNEKH HRMLAS (B@SEX
b, HAHHl, A< S) 70,920
OFSE=El=s 4,272,000 4,272
o254 9,600,000& 9,600
O&FHZ A 140,000& = 78 = 123 11,760




AN HELSH
=X

M MIHME AE
?2: ZeHE 84 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFEFOtHI 200,000 = 7H « 23] 2,800
OAzZtels=g
11,187& = 150% » 7% = 15AI2t = 128 21,144
OAIEAH 11,1873 » 8AI2E = 7H » 3L 1,880
O MY 70,000& = 7% = 12& 5,880
O=UWol 20,0003 = 78 » 20 2,800
C42E s 10,784,000 10,784
03 QIAtHMNHE2IHIEE 520,813 474,537 46,276
OFFA ZOH=3 =294 520,813
OJles 275,122,000 275,122
OF=1 68,067,000 68,067
O=cl=4l 125,824,000& 125,824
OXFE=ENEAE 8,760,000 8,760
OJI2 =8l 2,400,000& 2,400
OXMZHR=HZH 3,600,000& 3,600
O0ddl 9,300,000 9,300
Oget3 27,740,000 27,740
EFAEI ZO0He mas=Zisl 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 QIZFHALAIH 2 = 7,760 7,760 0
ORMB8al HFAIFI HOHQ MIASZMHE
7,760,000& * 13l 7,760
EFANEI F0He MEH=S 10 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 DIZHHALALSE E X 7,760 7,760 0
OHM13al EFAIEI| o MEHI SFUS
7,760,000& * 13l 7,760
HFFAEI HOHQ MEHE E=SHE 7,760 7,760 0
307 gl2tol & 7,760 7,760 0
04 DIZHHALALSE E X 7,760 7,760 0
OM133 HEFAIEI HOHQ MEHME E=SUHSE
,760,000& = 13 7,760
EFAEI HOH 5703 11,640 11,640 0
307 21201 A 11,640 11,640 0
04 QIZFHALAIH B = 11,640 11,640 0
OHM 123 HFAIEI HOiQ S71US
11,640,000& 13 11,640
E=AZEI ZOHe AHOoIE=2UE 11,640 11,640 0
307 21201 A 11,640 11,640 0
04 QIZFHALAIH B = 11,640 11,640 0




AN HELSH
x

M MIHME AE
?2: ZeHE 84 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OM102 H=AIEI 02 ANOEESUHZ
11,640,000& * 13l 11,640
HFANEI =0t sl 5,820 5,820 0
307 gl2tol & 5,820 5,820 0
04 DIZHHALALSE E X 5,820 5,820 0
OM73 HFAIHEI =0t U3
5,820,000& = 13l 5,820
EFAEI HoHe 2 4,850 0 4,850
307 21201 A 4,850 0 4,850
04 QIZFHALAIR B & 4,850 0 4,850
OM13 HFAIEI| Zofcl 22U
4,850,000& = 13l 4,850
X d=F0HCl BHEH A=A S 21,340 21,340 0
307 21201 A 21,340 21,340 0
04 QIZFHALAIH B = 21,340 21,340 0
OHM128 XX 8=2ZFO0HQ HHEQ S =2
3| 21,340,000& = 13 21,340
X d=2Z0HC E=US 21,340 21,340 0
307 glz2+ol & 21,340 21,340 0
04 QIZFHALAIH E = 21,340 21,340 0
OM128 X d=F0He E=SUH3
21,340,000& « 13l 21,340
X A=2Z0HC AHZTHE 19,400 19,400 0
307 glz2tol & 19,400 19,400 0
04 QIZFHALAIH 2 = 19,400 19,400 0
OHM4zl =Xt & AZTHE
19,400,000& * 13l 19,400
AT A= XIHZ0Hel szl 12,610 12,610 0
307 gl2tol & 12,610 12,610 0
04 DIZHHALALSE E X 12,610 12,610 0
OHM6a =X &=X el & St =4
thal 12,610,000& * 13l 12,610
ZOHAMEH XX B X 207,489 204,624 2,865
J| 103,744
< 41,498
Al 62,247
307 21201 A 207,489 204,624 2,865
J| 103,744
< 41,498
Al 62,247
02 It S AIHE L 207,489 204,624 2,865




AN HELSH
=X

M MIHME AE
?2: ZeHE 84 X (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZOMAMEH XX B X
51,872,250& * 43| 207,489
J| 103,744
< 41,498
Al 62,247
O AT HIRHAMY XA 45,900 24,960 20,940
J| 32,130
< 6,885
Al 6,885
301 LEHZ 45,900 24,960 20,940
J| 32,130
< 6,885
Al 6,885
01 MI2EZE 06z 45,900 24,960 20,940
OFHel AZ=2% 0lE2A XA
45,900,000& 45,900
J| 32,130
< 6,885
Al 6,885
M s 245 3,625,591 3,161,595 463,996
J| 1,216,584
< 155,430
Al 2,253,577
AL IHSHAY XI& 948,600 584,600 364,000
J| 664,020
< 142,290
Al 142,290
301 LA F 948,600 584,600 364,000
J| 664,020
< 142,290
Al 142,290
01 MI2ZE 6= 948,600 584,600 364,000
OArZ=2% 0l8A XA 948,600, 000& 948,600
J| 664,020
< 142,290
Al 142,290
UCH(E LR )METS XA B 433,958 426,048 7,910
J| 208,579
< 5,040
Al 220,339
307 glz2tol & 433,958 426,048 7,910
J| 208,579
< 5,040
Al 220,339
02 QIZtE A AHE X 433,958 426,048 7,910
OgetdE =X At b X
108,489,500 * 43 433,958
J| 208,579




2AM: HEsUsY
= AIMNS
oo MEHS

=

g A
0 0loh

st

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o e 2
< 5,040
Al 220,339
HEAMMUN MEHSX X X 309,970 304,320 5,650
J| 148,985
< 3,600
Al 157,385
307 glz2tol & 309,970 304,320 5,650
J| 148,985
< 3,600
Al 157,385
02 It MAHE X 309,970 304,320 5,650
ONZAMEHIFXEZX HHX
77,492,500 * 43| 309,970
J| 148,985
= 3,600
Al 157,385
ANZEEXH S X X BH X 30,468 30,468 0
307 gl2tol & 30,468 30,468 0
02 It M AHE L 30,468 30,468 0
OBFANMEMSXNA BIXI(BH)
7,617,000& = 43| 30,468
daH=s g4 N 375,889 361,413 14,476
307 21201 A 375,889 361,413 14,476
02 It S AHE L 375,889 361,413 14,476
ON32s =SH=2E MEHMEUH =H
84,000,000 = 13l 84,000
02022 SE=ETXNMI L EEIFI dEH=S
EEU3 &d 25,220,000 = 13l 25,220
02022 &K= S=E d=03 &&
9,700,000 = 13l 9,700
ONM173 SE=T 4 MUSUHE &=H
22,000,000& = 13l 22,000
02022 EFANIAAU2E=ZZIE AASE XE
1,940,000& * 12/ 1,940
OHMZ23s EHESEMSIEH BUR HE 0=
U3 =d 3,880,000& = 13l 3,880
02022 S=ENSHLUHE =&
6,790,000& = 13l 6,790
02022 MEHSXCXH(25E) MM A (H
249, HAIAY, YEHIHY S)
219,859,000 219,859
02022 EFANHM=E2 ARX /IS
2,500,000& = 13l 2,500
MEXSE AMYUALSE A 374,900 365,690 9,210
307 gl2tol & 374,900 365,690 9,210
02 It M AMHEE 374,900 365,690 9,210




2AM:
CAEIAHE RE
A

el

X ZH
S =

H=sus

d42Hs 243

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2UMH100 E=HHAASHE 2L (MEAE
2 2158) 9,700,000& 9,700
©2022 HaHsus 29 349,200, 000& 349,200
OdEN=s=us == uiH 6,000,000 6,000
OFFAFANAZ=Z2Y XA (UHS)
10,000, 000& 10,000
IHE100 E=HEASHH 29 200,000 206,250 26,250
J| 160,000
Al 40,000
307 21201 A 200,000 206,250 26,250
J| 160,000
Al 40,000
02 IZHE S AHE L 200,000 206,250 A6,250
O=2XNS100 EFHMEASHEH 2
200,000, 000& 200,000
J| 160,000
Al 40,000
MEHFHA XA 77,600 77,600 0
307 21201 A 77,600 77,600 0
04 DIZFHALALSE E X 77,600 77,600 0
OMSSEA K& 9,700,000& = 83l 77,600
EFANAESEI MEHE S3EUH N2 39,285 39,285 0
307 gl2tol & 39,285 39,285 0
04 DIZHHALALSE E X 39,285 39,285 0
OF=AEIHI MEHS ESLEUI XA(25
3l) 39,285,000 39,285
SHESEEXAMI & S MU =X 19,400 19,400 0
307 21201 A 19,400 19,400 0
04 DIZHHALALSE E X 19,400 19,400 0
ON253 SHSTXAID| MENS 22U 8
Xl 4,850,000& = 13l 4,850
OHN203 BSHESZXAD MEMNSE =2U3 8
Xl 4,850,000& = 13l 4,850
OM153 SH=T XA MEMS HOESU
2 =X 4,850,000& = 13l 4,850
OH6sl SH=EZXAD| MEHE AU =
Xl 4,850,000& = 13l 4,850
SHsH=s3 Msta XA 9,700 9,700 0
307 21201 A 9,700 9,700 0
04 QIZFHALAIH B = 9,700 9,700 0
osHsSH= MU XA
4,850,000& =+ 23l 9,700
EFANEI MEH=E =703 11,640 11,640 0




EM MERS
g MME &S
Helr dMEHs 245

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 11,640 11,640 0
04 DIZHSHALAIRI 2 = 11,640 11,640 0

OHM9gl HFAFI HEHT =20
11,640,000& * 13l 11,640

EFANEI MEM= ANOESUH 5,820 5,820 0
307 21201 A 5,820 5,820 0
04 DIZHHALALSE E X 5,820 5,820 0

OHNBal HFAIZEI MEH=E ANOE=2U
5,820,000& = 13l 5,820

AN M= 8703 9,700 9,700 0
307 giz2+ol & 9,700 9,700 0
04 DIZHHAAL I 2 X 9,700 9,700 0

OHM9sl HFAIEI MEHME §FUE
9,700,000 = 13l 9,700

EFANEI MEH=E So1EUHE 5,820 5,820 0
307 21201 A 5,820 5,820 0
04 QIZFHALAIH B = 5,820 5,820 0

OHM9sl HFAIEI MEM=E =W
5,820,000& = 13l 5,820

EFANEI MEH=E O3 9,700 9,700 0
307 glz2tol & 9,700 9,700 0
04 QIZFHALAIH E = 9,700 9,700 0

OHM9al HFAZI MHEH=E k20
9,700,000& =+ 13l 9,700

EFANEI dEH=S S0 7,760 7,760 0
307 glz2tol & 7,760 7,760 0
04 DIZFSHALAIRI 2 = 7.760 7,760 0

OHNB3l HFAIZEI MEME ZFUE
7,760,000& = 13l 7,760

FFANEI dEHS 222 HE 7,760 7,760 0
307 gl2tol & 7,760 7,760 0
04 QIZFSHAIAIRI 2 = 7,760 7,760 0

OHMB8al HEFAZI HaHs|s Jct2==Z 0
7,760,000& = 13l 7,760

FFANFI MEHE d=HAS2A0EHE 5,238 5,238 0
307 21201 A 5,238 5,238 0
04 QIZFHALAIH B & 5,238 5,238 0

OHM9zl HFAEI HEM| d=HA=ct0lE
sl 5,238,000& = 13l 5,238
FFAED| MEHs HLAMS 8,730 8,730 0




EM MERS
g MME &S
Helr dMEHs 245

5 - 4
SN ED B (3H) - MEAY - BAS ol &k o8 %@ﬁ
307 2Iz2to| & 8,730 8,730
04 SIZ2ISHAAIH E & 8,730 8,730
OHMBal HEFAIXI MEHM= HLULAUS
8,730,000& = 13 8,730
HFANED MEHE SAUS 7,760 7,760
307 212t0| & 7,760 7,760
04 SIZ2ISHAAISHE E X 7,760 7,760
OM73 HZ=AADI MEHT SAUHI
7,760,000 * 13 7,760
HFEAED MEHS HHEQLEUS 14,550 14,550
307 2I2t0| ™ 14,550 14,550
04 CIZ2tSHALALS B X 14,550 14,550
OMB83 HFAIXI MEHF BHELUEHU S
14,550,000 = 13| 14,550
HFEAEYD MEHE 72U 5,820 5,820
307 QI2t0| ™ 5,820 5,820
04 CIZ2tSHALALS B X 5,820 5,820
OMB83 HFAIED MEHNE 72U
5,820,000 = 13| 5,820
HFEALO MEMHE 0AHEFTLHLU S 6,790 6,790
307 2iztol A 6,790 6,790
04 QIZ2tSHALALS B = 6,790 6,790
ONM93l HFAIEH MENSE 0AHEZ=LLM
3| 6,790,000& = 13| 6,790
HE=ANSH MEH=E A LALS 5,238 5,238
307 2iz2to| A 5,238 5,238
04 SIZ2ISHAAIH E & 5,238 5,238
OHM93l HFAIEH MEM= HHHLIAUS
5,238,000& = 13| 5,238
HF=ANEH MEHNE F2US 5,820 5,820
307 2Iz2t0| & 5,820 5,820
04 SIZ2HSHAAISH E & 5,820 5,820
OM93l HFAIAU MEHNT EFUI
5,820,000& = 13 5,820
HEA MEMSUHI 82,935 82,935
307 212t0| & 82,935 82,935
04 CIZ2tSH ALALS B X 82,935 82,935
OHM93l HFAl MEXMFUI
82,935,000& * 13l 82,935
HE=AN MEHTHHZY SOIEEH 7,760 7,760




AN HELSH

g MME &S
A

Ee: MEHs 245t (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 7,760 7,760 0
04 DI2HHALALSE E X 7,760 7,760 0
OHM9sl H==Al MEMSHAZY SO SH
7,760,000& * 13l 7,760
54328 018 E= M SR R=g8 ] 13,095 13,095 0
307 21201 A 13,095 13,095 0
04 DIZHHALALSE E X 13,095 13,095 0
02022 EFS423&X JIE EF NEE &g
=l 13,095,000& * 12l 13,095
A 1-212 39,770 39,770 0
307 21201 A 39,770 39,770 0
04 QIZFHALAIH B = 39,770 39,770 0
©2022 H=Al 1-2l1(63l) 39,770,000 39,770
S22 HEE 9,000 10,000 A 1,000
< 4,500
Al 4,500
307 gl2tol & 9,000 10,000 A 1,000
< 4,500
Al 4,500
04 DIZHHALALSE E X 9,000 10,000 A 1,000
02022 s=5H B 9,000,000& = 13l 9,000
< 4,500
Al 4,500
X HAYAME MIFA2U3 43,650 43,650 0
307 glz2+ol & 43,650 43,650 0
04 QIZFHALAIH E = 43,650 43,650 0
OM133 =X, & U d==S2U3
43,650,000 * 13l 43,650
AN EIAMENH QLE MEMS HHECIEUS 21,825 21,825 0
307 glz2tol & 21,825 21,825 0
04 DI2HHALAISE E X 21,825 21,825 0
OHMB8al XX FIAUIHH QLE MEMS HHE
QI3 21,825,000& * 13l 21,825
AN HAMEHE dI0I=HUANE 9,700 9,700 0
307 gl2tol & 9,700 9,700 0
04 DIZHHALALSE E X 9,700 9,700 0
OHM9sl X , HIMAME MI0I=HLANE
9,700,000& = 13l 9,700
X, AU aH He H=HLANE 25,220 25,220 0
307 21201 A 25,220 25,220 0
04 DIZHHALALSE E X 25,220 25,220 0




2AM:
CAEIAHE RE
A

el

X ZH
S =

=

H=sus

d42Hs 243

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
©2022 X, HAMAMGY MY d=ZHLA
CHal 25,220,000 = 13| 25,220
HIMHAA H¥SOI2HEAU S 232,800 232,800 0
307 2Iz2t0| A 232,800 232,800 0
04 SIZ2HSHAAISH E & 232,800 232,800 0
OHM203 HIJAMAA HHSOIUHEAUS]
232,800,000& = 13 232,800
MXAIE S22 HAEEY 26,190 26,190 0]
307 212t0| & 26,190 26,190 0
04 CIZ2tSHALALS B X 26,190 26,190 0
©2022 AXAIY Sl HAEY
26,190,000& * 13 26,190
AR M=2ZAMSE 36,860 36,860 0
307 QI2t0| & 36,860 36,860 0
04 CIZ2tSHAPALS B = 36,860 36,860 0
OHM93l &KX M=ZF&0H3
36,860,000& * 13| 36,860
AMX d=2=EUH3 32,010 32,010 0
307 gizto| A 32,010 32,010 0
04 CIZ2tSHALALS B = 32,010 32,010 0
OHM153 &2XIHl =223
32,010,000& * 13| 32,010
sS= AEUE E§20UE 27,160 27,160 0
307 2iz2tol & 27,160 27,160 0
04 QIZ2tSHAFALS B X 27,160 27,160 0
OHM193 &5 HEWUE U
27,160,000 = 13| 27,160
= MEH=s 0F2UE 9,700 9,700 0
307 2Iz2t0| & 9,700 9,700 0
04 SIZ2ISHALAISH E & 9,700 9,700 0
OHM143 5= MEH=E 0F2US
9,700,000& = 13 9,700
JPAS A (VR) AZXA XSS BE5ALY 70,000 0 70,000
Jl 35,000
Al 35,000
308 XX SHHSOIA 70,000 0 70,000
J| 35,000
Al 35,000
08 mW=sJl&otistEx 70,000 0 70,000
OJtASA AZXA B3 & ALY
70,000,000 70,000
Jl 35,000




FAM: HENSDH
M MIHME AE
el MBS B4 (el:de)
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
| [ A 35,000
=S wUEME X& 3,806,607 3,600,760 205,847
=S UsME K& 3,806,607 3,600,760 205,847
sty WEEA HHAY 475,670 539,000 263,330
201 Let24d] 1,800 0 1,800
01 At 22l 1,800 0 1,800
onsZYEIINASAAS A +¢
100,000& = 6H = 33l 1,800
308 XtXIEHH SOl A 473,870 539,000 265,130
08 DS BUCNEEE 473,870 539,000 £65, 130
O NESHAIMLALS 473,870,000 473,870
Ch=RuA AsMY X2 613,000 595,000 18,000
308 XXl EHH SOl A 613,000 595,000 18,000
08 WSII20HetE = 613,000 595,000 18,000
OUSHuA MFAE XN (US) 613,000
OZ&3=x 321,000, 000& 321,000
Odd=x 292,000, 000& 292,000
HEg g0 & 200,000 300,000 A 100,000
308 AHAIEHHSOIA 200,000 300,000 100,000
08 WSII20HetE = 200,000 300,000 A 100,000
OXEE 28 XNJ(&1, D)
100,000,000& * 2JH 1 200,000
AA=stEMd 249 XN& 92,000 92,000 0
308 MtXIEHMSOIH 92,000 92,000 0
08 WSII20HetE = 92,000 92,000 0
OXtseE N 2L X2 (47H) 92,000,000 92,000
HdEWNSKF 2EXE 1,100,000 1,100,000 0
308 XXM SO A 1,100,000 1,100,000 0
08 WSII20HetE = 1,100,000 1,100,000 0
OHEH=ZWSIAT 2% X
1,100,000, 000& 1,100,000
AMESIE X& 100,000 102,500 A 2,500
308 AAIEHHSOIA 100,000 102,500 A 2,500
08 w=EJ|20ltst=e 100,000 102,500 A 2,500
OMERXE K& 100,000
OME =X W]
2,500,000& * 4004 & 100,000
DNSEW AN (2L S) 825,937 872,260 AN46,323
308 XXM SO0 A 825,937 872,260 AN46,323
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2N
Do 84 X

el

X ZH
S =

H=sus

ol 54 N

- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
OxX=S&M Startéup 2l 2=
20,000,000 20,000
HHSHAY (MESRsEY) 84,234 83,152 1,082
ol 2H | 47,870 48,177 A 307
ol | 47,870 48,177 N 307
101 e1214| 47,070 48 177 A 1,107
03 222 (RI|HY) 222 47,070 48,177 AN 1,107
0B2H B4 47,070
OJI2a2(CE11) 2,447,030 + 199 » 12€ 29,365
o254 122,350 = 19 = 128 1,469
OHHZAH| 140,000€ *~ 1H = 128 1,680
OY &5 Iy| 1,223,510 * 1¥ * 23| 2,448
OzxnU2R4+Y
17,2009 = 30AI2F ~ 1&H = 12&€ 6,192
OdIIEAZ 91,760& x 18 » 20¢ 1,836
OEx=E 260,000 ~ 1€ * 12& 3,120
OS4+H24Y 30,0008 * 1% = 122 360
O 50,000 ~ 1H = 12& 600
303 ZAZ2 800 0 800
02 a2 800 0 800
O&dMANH= 800,000& * 1¥ = 13| 800
=44l 36,364 34,975 1,389
Jl2 &4l 36,364 34,975 1,389
201 et | 13,464 13,695 A 231
01 AP 2t 2| bl 13,464 13,695 A 231
oJl2geLdist sy (JI=ZH|)
450,000& * 12Y4 5,400
oO3EHI(J1=ZHl)
8,000& * 129 = 72 = 12& 8,064
202 044 14,400 17,280 A 2,880
01 2L Y| 14,400 17,280 A 2,880
OOHI(J1=&HI)
20,000 = 12 = 52 * 12€ 14,400
203 €2 F=&d| 3,000 3,000 0
04 EANSIE LR F=XH| 3,000 3,000 0
©J| =M (15210|56t) 250,000& = 12€ 3,000
405 XHo&HF S HI 5,500 1,000 4,500
01 XA 2 ZF S H| 5,500 1,000 4,500
O &K= A 5,500,000 = 1CH 5,500




> A
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
SN BBYHID
Hu: DEAANE
Sl BT (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Eg s 4,236,492 2,530,327 1,706,165
J| 500,000
< 141,202
Al 3,595,290
22LUANS 4,139,093 2,429,797 1,709,296
J| 500,000
< 141,202
Al 3,497,891
22 FH 3,011,320 1,279,748 1,731,572
J| 500,000
< 134,002
Al 2,377,318
2EAMY ANEFZ 2,470 2,502 A32
201 et 2,470 2,502 A32
01 At 22l 2,470 2,502 A32
O2ZAY CIGIIIAl ER=235 % 3BAME=S X
s fs =2 2,470
O=AMIIEH 260,000& = 14 260
OZgHEH 220,000& = 504 1,100
O=AMEX 21,0003 » 10 A 210
OIZANLE NWS A 248
450,000& * 29 = 13 900
SRH2ZEAS ZSAY 55,500 60,500 25,000
201 Let249H] 24,000 42,000 218,000
01 At 22l 24,000 42,000 A 18,000
oxZ=s=28 M 24,000,000& 24,000
307 glz2tol & 12,000 0 12,000
04 DI2HHALAISE E X 12,000 0 12,000
OsFAAZEYS FAAS(EE3I)
12,000, 000& 12,000
308 XX EHSOIA 19,500 18,500 1,000
07 IXNHMAR S = 19,500 18,500 1,000
O=FH2ZE A3 SSAH| 19,500
O=ezZd 5,000,000& 5,000
OoO=u=22d 4,500,000& 4,500
OHelged 7,000,000 7,000
OOttt 22 LHF 3,000,000& 3,000
EFA 2282s 29 32,000 25,000 7,000
307 glz2tol & 32,000 25,000 7,000
03 BIAHMNHE2IHIEE 32,000 25,000 7,000
OFFA 2ZE23 234l 32,000,000& 32,000
NSU2n =Z3d+=H 601,500 627,750 A 26,250




SN BPIBDY
Mo BBNANE
el RRE CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 18,000 14,250 3,750
01 At 22l 18,000 14,250 3,750
OHALZ CHHSX &XzE  2,2008  6,000m 13,200
ONMSUHEL =dd==H FHRAA3S
128 + 100,000& = 43| 4,800
307 glz2+ol & 533,500 533,500 0
04 QIZFHALAIH B = 533,500 533,500 0
OMsUH2n =dAd==H 533,500,000 533,500
401 AIEHIZ 28I 50,000 80,000 230,000
04 SHA2t A Al & HI 50,000 80,000 230,000
OHME HMEX =4 50,000
O X &l 30,000,000& 30,000
O=X&E Ald2 &X 20,000,000& 20,000
HZ=SEHHA HE w= 5,500 5,646 A 146
307 gl2tol & 5,500 5,646 A 146
02 IZtF M AHE L 5,500 5,646 A 146
O=nZB+=ZHHA ML D= 5,500,000& 5,500
S ZYHEA 2Y(HBAIY) 554,350 558,350 24,000
< 134,002
Al 420,348
201 24l 24,850 24,850 0
< 6,007
Al 18,843
01 At 22l 18,450 22,575 A4,125
O=2t&ZoHdA THOIA 22l 2 29
5,950,000& 5,950
< 1,438
Al 4,512
osHBBHLAN 222 7
250,000& = 509 12,500
< 3,022
Al 9,478
02 2324l 6,400 2,275 4,125
O=Zst2ZoH&E AN THIIA RAE=>
4,000,000& 4,000
< 967
Al 3,033
O=2&ZoHEA CHIIA 29| 2,400
OFE2 H&Ee2 S HIA HI 23
100,000& » 12& 1,200
< 290
Al 910
OEE2, §&c & UilA AHUYRS
100,000& » 12&8 1,200




2N
X ZH -
L= B

el

i

o
0 oK O
0% rx oX
J2 e g
y
0lon

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 290
Al 910
301 LEHZ 529,500 529,500 0
< 127,995
Al 401,505
09 HALAHIX RS 7,500 7,500 0
O2tAZEMN NE S HHEH
7,500,000& 7,500
= 1,813
Al 5,687
12IJEEd=s 522,000 522,000 0
O=Zst2Zoi& A &Sl 522,000,000& 522,000
< 126,182
Al 395,818
el 2R ZEAY 1,760,000 0 1,760,000
J| 500,000
Al 1,260,000
401 AIEHI L 2 CHYI 1,760,000 0 1,760,000
J| 500,000
Al 1,260,000
01 A& HI 1,760,000 0 1,760,000
OZel&ZX ZHAS(BARK)
1,060,000, 000& 1,060,000
J| 250,000
Al 810,000
OLUBZX FHMA(BES2H)
700,000,000& 700,000
J| 250,000
Al 450,000
2Z01g =4 373,567 486,688 A 113,121
22 OHLHE X & 2te| 30,000 30,000 0
401 Al HIZ 2018 30,000 30,000 0
01 A& HI 30,000 30,000 0
OZtHOHLHEXIE HHIALS 30,000,000& 30,000
22X HEH ZHAY 80,720 80,720 0
401 AIEHI L 2 CHYI 80,720 80,720 0
01 A& HI 80,000 80,000 0
o2& &8 TdAY 80,000,000& 80,000
03 AIE 2 THHI 720 720 0
O=ZX dH &AL 80,000,000& * 0.90% 720
Y H4EE 29 9,800 27,400 A 17,600
201 LBt 9,800 27,400 A 17,600
02 =224l 9,800 27,400 A 17,600




ZEE )
2BUARE
2208 XM Chel: ® &)
= - 4 14
SA - B .G (3AH) - MBAY - BES gﬁ‘&i HR=2
oxZ%+ AFE2 =94 9,800
OZ%+ 4HE WIQS
250,000 ~ 12& 3,000
OZFot4+ 4¥2 44+5R3
150,000 = 12& 1,800
OA & &Hl Xl 5,000,000& 5,000
HAZ AAIBIAIE 29 190,447 80,920 109,527
101 e1214| 17,140 16,288 852
04 J|12ZtHIZ22NEES 17,140 16,288 852
OFALZ AMNAES 22 82 15,443
oJles 73,280 * 19 x 262 * 8€ 15,243
OY &SI 200,000& = 1 * 13| 200
048 I8 =2 1,697
O=281d3 15,443,000& * 4.5% 695
OHLEE 15,443,000 * 3.43% 530
OIAEE 530,000& * 11.52% 62
OonEEs 15,443,000 * 1.65% 255
OMMEE 15,443,000& * 1.00% 155
201 et d| 27,980 38,432 N 10,452
01 AP 2t 2| bl 2,180 1,632 548
OFHZ HIGHHINYEY +48
140,000& * 128 1,680
OFALAZ 2A2EE P2¢ 500,000& 500
02 Z2=2=24%94| 25,800 36,800 A 11,000
OFASZ 2EI|BIAE MRS
1,400,000 * 12& 16,800
OA&EZEH SAE 9,000,000& 9,000
401 Al HI L 2 0HHI 143,827 26,200 117,627
01 Al& H| 143,827 26,200 117,627
OFA&Z =X 2el 22,027
OJIAH M = 253 « 15,930m" * 33| 12,091
Ool&EH = 900& * 3,680m * 33| 9,936
og =olleA 1,800, 000& 1,800
OAI0IHA A= B 120,000,000 120,000
405 XHA&HF S HI 1,500 0 1,500
01 XA 2 FF S| 1,500 0 1,500
O ==l el 1,500, 000& 1,500
s37= 2y el 37,600 37,848 ~248
401 AlEHIZL 2 0HY| 37,600 37,848 A\ 248
01 Al&H| 37,600 37,848 N\ 248
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I WAL Ol =4
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O9l: MEUXY ZJUSAL 23 (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
M= A A D 7,882,940 9,799,029 A 1,916,089
= 270,000
Jl 1,200,000
= 1,115,000
Al 5,297,940
HMS=AIE DIt 24 120,000 1,686,000 AN 1,566,000
MEUXSYE ZZHSAE &5 120,000 1,686,000 AN 1,566,000
S0 22 X4 MY 120,000 0 120,000
401 Al HI L £ 0HHI 120,000 0 120,000
01 Al& H| 120,000 0 120,000
O=0] E2& Z4dAIY 120,000,000 120,000
ADEZFO HMSAIE 22 7,725,161 8,070,143 A\ 344,982
= 270,000
Jl 1,200,000
= 1,115,000
Al 5,140,161
S2H2 HSAE & 1,348,805 1,297,305 51,500
HSAE A29H & 1,348,805 1,297,305 51,500
307 QI2t0| & 1,348,805 1,297,305 51,500
05 QIZtREZ 1,348,805 1,297,305 51,500
OW==221H=HE 755,066,000 755,066
OFMAAZL=ME L 2U5E EHE
201,231,000 201,231
OFFRTH L HEZREH
195,128,000 195,128
OXHFHRE 197,380, 000& 197,380
ACIOl HAE MEAIE HA 5,650,000 6,270,000 A 620,000
g 270,000
J| 1,200,000
& 1,115,000
Al 3,065,000
HMEAIE U AL 900,000 300,000 600,000
= 270,000
& 315,000
Al 315,000
401 AlEHIZL £ 0HY| 900,000 300,000 600,000
Fag 270,000
& 315,000
Al 315,000
01 Al&EH| 894,596 297,793 596,803
OMESANLE HH (22422, sl3ds2H
) 894,596
O3 At 857,714,000& 857,714
= 257,314




= Ald Dt

CEIDSES MSAL 2l
DARI0L AZE MSAIE A

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 300,200
Al 300,200
O& A& 857,714,000& * 4.30% 36,882
s 11,064
= 12,909
Al 12,909
03 Al S THHI 5,404 2,207 3,197
OMSAIE FU(2EZLZY, s0=2H=s2
) 857,714,000& * 0.63% 5,404
s 1,622
= 1,891
Al 1,891
LH=3423% AEHd Mg 1,900,000 0 1,900,000
J| 570,000
< 380,000
Al 950,000
401 AIEHI L 2 CHYI 1,900,000 0 1,900,000
J| 570,000
< 380,000
Al 950,000
01 A& HI 1,874,976 0 1,874,976
OUH=ZLE2E AEHH 1,874,976
O3 Al 1,813,323,000& 1,813,323
J| 543,997
< 362,665
Al 906,661
O4a Al €Al 1,813,323,000& * 3.40% 61,653
J| 18,496
< 12,330
Al 30,827
02 Zeltl 18,496 0 18,496
OU=ZLE2sH ANENE
1,813,323,000& * 1.02% 18,496
J| 5,549
< 3,699
Al 9,248
03 A& S THHI 6,528 0 6,528
OU=ZLE2sH ANENL
1,813,323,000& * 0.36% 6,528
J| 1,958
< 1,306
Al 3,264
EFERE3 2 AIEdEd At 200,000 0 200,000
J| 60,000
= 40,000
Al 100,000
401 Al HIZ 201 I 200,000 0 200,000
J| 60,000
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OFF=RE3& AIEEHI 198,637
O3 AtHI 189,268, 000& 189,268
| 56,781
< 37,853
Al 94,634
O& A& 189,268,000& * 4.95% 9,369
J| 2,810
= 1,874
Al 4,685
03 Al 20 HI 1,363 1,363
OFF=RE3l& AIEEH
189,268,000& * 0.72% 1,363
| 409
= 273
Al 681
E=TEZINE ANEBH A 1,900,000 1,900,000
J| 570,000
= 380,000
Al 950,000
401 AIEHIZ 28I 1,900,000 1,900,000
| 570,000
< 380,000
Al 950,000
01 A& Bl 1,874,976 1,874,976
O HF=ZEFINE AN&FUI 1,874,976
O3 Al 1,813,323,000& 1,813,323
J| 543,997
< 362,665
Al 906,661
(OFSPNR=; =] 1,813,323,000& * 3.4% 61,653
| 18,496
< 12,330
Al 30,827
02 Zeltl 18,496 18,496
OHEFZEZINE A&EFHI
1,813,323,000& * 1.02% 18,496
| 5,549
< 3,699
Al 9,248
03 AIE 2 0H bl 6,528 6,528
OBFEAIT ALY
1,813,323,000& * 0.36% 6,528
| 1,958
< 1,306
Al 3,264
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o
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M EN=SSE ST ZHERA EX3A 400,000 0 400,000
401 Al HI K 201 I 400,000 0 400,000
01 A& HI 397,249 0 397,249
ONEHENSISH S7E ZTEHIALIISA 397,249
O3 AtH| 382,080,000 382,080
O& A& A 382,080,000& * 3.97% 15,169
03 A& S THHI 2,751 0 2,751
ONEMEH=SZEY S ZFEIRAEXNSA
382,080,000& * 0.72% 2,751
g2RTal 2 HLHYAA SXAMY 190,000 0 190,000
401 Al HIZ 201 I 190,000 0 190,000
01 A& HI 190,000 0 190,000
OHZISTa & HHHALY XA
190,000, 000& 190,000
AFSEAAET 50N 220l wH A 160,000 0 160,000
AEHI &2 160,000 0 160,000
1T A& HI 158,909 0 158,909
OFF=ZEAZZE SOMEFL 0l WA 158,909
O3 AtH| 151,414,000& 151,414
O& A& A 151,414,000 * 4.95% 7,495
03 AlE S THHI 1,091 0 1,091
OFF=SEAAZE S0ME L 20l WA
151,414 ,000& * 0.72% 1,091
OHME 2RHCZ otz MSAME FXA2a 726,356 502,838 223,518
HsAE x32e & 33 75,000 72,000 3,000
401 Al HIZ 201 Y| 75,000 72,000 3,000
01 A& HI 75,000 72,000 3,000
OHMSAE =X M= & =Z 22
5,000,000& = 5JH 4 = 33| 75,000
HMSAL 22 651,356 430,838 220,518
101 @124l 34,277 56,112 A21,835
4R Z22XNSES 34,277 56,112 A21,835
Os0=HM=s3¥ 2clod 30,885
OJdles 73,280@ * 2 * 269 « 8F 30,485
OZFEFItHI 200,000& = 2H = 13| 400
OSDI=H=E32 22sE AHEE JI2RES 3,392
O=8d¢d= 30,885,000& = 4.5% 1,390
OHLEE= 30,885,000& * 3.43% 1,060
OWIAEER 1,060,000& * 11.52% 123
OnsE8g= 30,885,000& * 1.65% 510
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMMMEE = 30,885,000& * 1.00% 309
201 et 46,020 62,061 A 16,041
01 At 22l 3,700 5,741 A2,041
OINCHEUANE =2
100,000& = 4% = 3 1,200
OM=sAE 28 EE2= HMH 2,000
O8=+9 50,000 * 5Ji 4 * 43 1,000
OQFLH & Xl & 200,000& = 53] 1,000
OAd2el &AM 500
OA=EZ, HMIISH, JIH 4
50,000& * 33 150
o4& XN&, g48d 70,000& = 5& 350
02 =24l 42,320 56,320 A 14,000
OMSAIE AM&EEHIS XU 25,000,000& 25,000
OMSAEZANLE SRS+
610,000& = 12& 7,320
Osilzs MEe3d JI28 dIIR3
350,000& = 12& 4,200
03012 HNs3d =23 400,000& * 128 4,800
OMESANE nExkLIE3
1,000,000 = 10024 1,000
203 YR =&t 2,000 2,000 0
03 Al =X YR =& 2,000 2,000 0
OHMSAIE 22| d2F& 2,000,000& 2,000
206 M= Hl 23,212 2,265 20,947
01 =8l 23,212 2,265 20,947
OMSAE 22=ES 3,254
oXdJl sMSS(750) 2,170& 5004 109
OXdIl NS (50L) 1,450& * 1000H 145
Ozt s st&EX 40,0003 * 104Xt 400
O&A, AT & BLES
5,000& = 10& = 128 600
otHeele, =3& UE s
100,000& * 108 1,000
O3& LEDE T 50,000& = 108 500
OU=2l 88, 27%& 50,000& * 10& 500
ou=x=Jl &% 1,599% * 200L 320
OZ2LUMSHH g% 2IES 19,638
oxsE 11,0002 * 100K 1,100
odmt 11,000& * 5004 550
OZ£0l 13,2002 * 304 396
OdAam&E 242,000 * 1K 242
OHlE#® 231,000& = 14 231
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OFHXZI 33,000& * 54 165
OxZE&E 77,000& = 104 77
O F—3- 77,0002 = 14 77
O&FEALEZHD 385,000& = 1MIE 385
O=25&7| 242,000 = 14 242
O =9 A 99,000& * 2JH 198
o254 55,0002 * 2K 110
Odl ol kLY &t 33,0002 * 54 165
oA 250,000 = 24 500
o-gg 145,000& * 204 290
oor=zotg e 39,600& = 1004 3,960
OO0t E 13,5002 * 1004 1,350
Odr=L 10,0002 * 2004 2,000
O0t=z0otut< & 24,5002 = 1004 2,450
Ooot=zotgaAg 22,0002 = 100K 2,200
OO0+ 7,000& = 1004 700
O0tFotIA=2=2E 19,0002 100K 1,900
OO0tz0t=2 3,500& = 1004 350
401 Al& I 28I 318,000 306,000 12,000
01 A& HI 318,000 306,000 12,000
OMESANE RANE=> 12,000,000& * 690 2 72,000
OSTHSAL RX L4
50,000,000& * 4043 200,000
OMSAE FIIHHEH 46,000,000& 46,000
405 XHoHF S HI 227,847 2,400 225,447
01 XL 2 ZFH S| 227,847 2,400 225,447
OZ2=CUNSHH HIS 202,461
oz &g 1,460,850& = 20CH 29,217
O=AtJ| 4,203,000 = 1CH 4,203
OF=|NUPSE=R=] = 553,000& = 404 2,212
OTATD| 553,000& =« 1CH 553
OANIED] 996,000 * 1CH 996
OXIH N ==2| 296,000& = 1CH 296
O&0lH&D] 432,000& = 1CH 432
ONEANIEZA) L AHCHBHE
2,219,500&  1CH 2,220
OHIHHSSAXEHH L AHE
1,627,000& * 1CH 1,627
O&EALED] 775,000 = 104 775
o4& 393,000& =« 2CH 786
(OFSE=FEp) 133,000& * 204 266
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CHR: Ot E XRHO2 ol HSAYE X122 (&2 &)

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2

OTV 884,000 = 2CH 1,768
O&FI| 421,000 * 20CH 8,420
Ol AT (=84) 255,000 = 24 510
O HI X 187,000& = 134 2,431
O20 A2 E 210,000 * 247H 51,870
O3001 Algr & 830,000& = 44 3,320
(@XIIE=F i 664,000& * 24 1,328
O401 EHX} 189,000& * 404 756
OhH =EZ 178,000& = 24 356
oK el & 21,000& = 24 842
OBHINHI R 292,000& = 1604 4,672
O xgauza 320,000 = 7JH 2,240
Ox=g9 & = 518,000& = 134 6,734
OJIMAHZO0lE Xt 503,000& * 2H 1,006
Omtel& 6,685,000& 6,685
O& 419,000& 419
Odtglol2(ti=s8 &) 282,000& = 54 1,410
Odte o xH(TI=HE) 161,000& = 74 1,127
OA I 0l= 21,000& * 1JH 221
O EE X 166,000& = 1JH 166
OK 0L Xt 190,000& * 24 380
Oolsgdemy 186,000& = 1694 2,976
oY xItEH 788,500 = 5JH 3,943
OoXHHEE) 322,000& = 23 7,406
OzH A 207,000 = 2004 4,140
oz24It24 840,000& = 1JH 840
OSXH(aloe & EX) 129,000& = 2204 2,838
(OF=R~: 2,850,000& 2,850
OdtAsED] 495,000 * 1M E 495
OsA 352,000& * 1JH 352
Oz & 308,000& = 1JH 308
Ogd+=SE A 2,145 ,000& = 104 2,145
OOotM 2ZFAITH 2,640,000 = 204 5,280
OMZ A 550,000& = 2JH 1,100
OAXEOIDY 1,320,000& * 1JH 1,320
Oorgre 28t 770,000 = 1CH 770
ORI 2 825,000& = 1CH 825
OB 20 825,000& = 1CH 825
@=t-wl 132,000& * 2CH 264
ODAH=D| 880,000& = 1CH 880
(OEE=F~F] 1,320,000 = 1CH 1,320
OHXEZ0IHH 440,000 * 1CH 440
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OHYE X = 280,000 = 24 560
OE M 180,000& = 3CH 540
Og4d s st 550,000 = 2CH 1,100
OE=FZNSEAD 18,700,000& = 1CH 18,700
OUxMEH=E2E ASAEHE HS 23,925
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O&H |AAES 4= 6,330
OFZH 4,000& * 3304 1,320
O9AsHH 20,000& * 30 600
& 2Hl 6,000& = 1604 960
od2g A= 55,000& * 404 2,200
O&=H 25,000& = 509 1,250
o02xD ¥4 9,360
(Ol ESPSE=, 36,000& * 20004 7,200
OFF0EE= 36,000& * 60H 2,160
401 A& HI L 2T 276,325 95,476 180,849
01 A& HI 276,325 95,476 180,849
OZ20 A dI| S8 A
7,000,000& * 3044 21,000
OW=odY JIHEH MHSHO H&Z2A 155,325
O&dl INsHA 150,000, 000& 150,000
O & At 150,000,000& * 3.55% 5,325




A 2029
AlD &

HE: AlQIQ] =S BH =2 st &4
el Bt 243E /A8 A4 I8 =4 (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Oflz2ddd TAA = JF=2E 501 A
3 A 100,000,000& * 1CH 100,000
SOHAIE 22 975,157 125,250 849,907
201 Lt 2| 104,000 104,650 650
01 AP 22l Yl 19,000 25,650 A 6,650
O3dHE RUAE HHAH =5
,500,000& = 204 & 19,000
02 35244l 85,000 79,000 6,000
O3dH& A2 78,000
OZ2HA X222l (J1H)
12,000,000& * 304 4 36,000
OZ2¢ & S22 (HI])
8,000,000& * 344 24,000
OZ2¢ & S 22(SE)
6,000,000& * 344 18,000
0292 ot 383 3,500,000& * 2CH 7,000
206 T2 HI 20,600 20,600 0
01 M= bl 20,600 20,600 0
S OO Al K 3,800
OJIHEX 8252 188 200,000& * 198 3,800
ORMZ=Y XM 12,000
Ogz 2 s 30,000& = 60H 1,800
Ogrzd o 25,000 * 80H 2,000
OgzAd = ( 45,000& * 80JH 3,600
O #IZ (30 25,000 * 404 1,000
Oom #IxZ (1K 40,000& = 4004 1,600
OZM= &= (2KW) 1,000,000& * 2J4 2,000
ORUSE XM 4,800
ontola(ss 6,000& = 300m 1,800
OATIAHAOI 6,000& = 100m 600
ootola AHE 150,000& * 64 900
osgdlH ¥ 11,000& * 10074 1,100
omoola 8,000& * 504 400
401 Al HI L 2 THHI 850,557 0 850,557
01 A& HI 850,557 0 850,557
Olz=2ddY 233HE RUSEAAE OXE
e SA 785,898
O Z Akt 757,200,000& = 10 A 757,200
[@F=; 1]l 757,200,000& * 3.79% 28,698
Ol=2ddY 238HE AR 243 A 64,659
O S Attl 58,000,000& * 1JH 4 58,000
O & A b 58,000,000& * 11.48% 6,659




M 20H2S 0
M Aol #=E FF =2 =32 &4
el 20AE2E 243 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
ZUANE=RE 243t 804,283 921,735 A17,452
= 270,000
Al 534,283
AE2te] & AIQEOHS 444,283 383,365 60,918
101 124 4] 387,952 328,027 59,925
VPR EEP =P 387,952 328,027 59,925
ox4 2 I 264,737
oJeaz 73,280 * 8% * 262 « 128 182,907
Ofg+g
73,2803 » 8% 54 « 12& * 150% 52,762
OEZFItl 200,000&  8H = 23 3,200
O4lf B8z JI2223 25,868
-=0H= 235,669,000& * 4.5% 10,606
ALLE= 235,669,000& * 3.43% 8,084
-HIIeLEE 8,084,000& = 11.52% 932
-IE2H 235,669,000& * 1.65% 3,889
M EE 235,669,000& * 1.00% 2,357
O3 U0l 123,215
oJlzs 36,6402 = 188 « 182« 120,033
O1nEEE 120,033,000& * 1.65% 1,981
O HEE 120,033,000& * 1.00% 1,201
201 LEr2 Y| 11,940 15,547 ~3,607
01 AtR 22l | 11,940 15,547 A 3,607
O20AIE & - 22I RX2e
47,0008 * 7CH = 12& 3,948
OBM HSEE Jl 7Y 50,0008 * 45 23| 400
O20AIE SHH| 380,000& * 12€ 4,560
oA EH+E
100,0008 * 6% * 23 1,200
o3 Hgs & dgl 1,832
oxg= 86,000 » 8% + 2F 1,376
OetH ot 57,000& » 8% 456
203 R =l 2,000 2,000 0
03 Al FXH =AY 2,000 2,000 0
Oo=3is Meggs = 2,000,000& 2,000
206 M =8l 26,172 26,172 0
01 M= dl 26,172 26,172 0
OBAES 26,172
oA, HEM S 208
3,000& * 1000 = 2085 » 12& 7,200
obt=z e, ANF S 85
5,000& * 1001 = 8% » 12& 4,800




2N 2028
Alglo] &

HE: AlQIQ] =S BH =2 st &4
S SUHANE2E 2435 (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OEEESIHEX 33,000& * 158tA x 128 5,940
oMyIIsE 1,330& * 20004 = 12& 3,192
odEnt s 3=
2,000& * 500 * 3&Z * 12& 3,600
(@i =] 24,000 = 58tA x 128 1,440
307 QI2t0| ™ 8,119 8,119 0
01 el =t 700 700 0
oR2%E 100,000& * 75 700
05 A2t E 2 7,419 7,419 0
ogdLr= 25% * 24, 727m * 123] 7,419
405 XH&HF S I 8,100 3,500 4,600
01 AL S EF SHI 8,100 3,500 4,600
OZ20WAIE LA =DI 900,000& = 7H 6,300
O=2st& ®AIA HIOI=S 300,000& * 6H 1,800
lzodg 294 XA 360,000 360,000 0
T 270,000
Al 90,000
201 Bt A | 360,000 360,000 0
= 270,000
Al 90,000
02 35244l 360,000 360,000 0
O2WAIE &2 216,000,000 216,000
& 162,000
Al 54,000
O20UAE TAIIARZ 144,000,000 144,000
& 108,000
Al 36,000
HHSIHU (2 2Z ) 293,016 308, 179 AN 15,163
Jl2& bl 293,016 306, 129 A 13,113
&l 293,016 306, 129 A 13,113
201 YEr2 Y| 256,416 260,669 ~4,253
01 AFR2t2l bl 96,816 97,974 A 1,158
OJl2gdsaesHl 450,000& * 245 * 97% 10,476
ogAa EFAANE 10,000& * 4% * 123] 480
oSS (XY, 52 1,320
O Xl & Xl 13,000& = 5JHAF = 128 780
OsLX 15,000& * 3IHAF » 12& 540
O =AYl 59,400
O=s&a4Y 60,000& = 29 = 3652 43,800
Ogaax¢ 60,000& » 2% x 1302 15,600
OXHJAZE 1=t 120,000 * 6Y x 28 1,440
OFIABZE Ysts, 2otg 150,000& * 69 900
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8,000& = 30& » 7€ = 128

FSAD g

220,000 = 1CH = 128

400& * 8,000=
2,500 = 1,2008
40,0003 = 128
10,000,000& * 12l

190,000& * 12&

AH2RAIAE QI S A S
20,000& » 12&

11,300,000& = 122

=
M

= 400,000& » 12

20,160

2,640
159,600
6,200
3,200
3,000
480
10,000
2,520

2,280

240
135,600
4,800

28,800

20,000 = 24 * 58 * 123
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